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Koy H HiH 3.50 1.50 0. 00 0. 50 0.0 0.0 69. 0 69. 0 69.0|7 27 7 /L ik
31. 1 31 ~ 31.2 0 3. 50 1.50 0. 50

Koy H HiH 3.25 2. 00 0. 00 0. 50 155. 0 0.0 0.0 155.0 224. 0|7 A 7 7 )b NafidE
31.2 0 ~ 31.3 55 3.25 1.90 0. 50

Koy H Hih 3.25 1.50 0. 00 0. 50 0.0 0.0 62.0 62.0 286. 0|7 % 7 7 /b [fi%
31.3 55 ~ 31.4 17 3.25 1.50 0. 50

Koy H HiH 3.00 0. 00 0. 00 0.75 170.0 0.0 0.0 170.0 456. 0|7 A 7 7 /b [afi%kE
33.2 29 ~ 33.4 0 3. 00 3. 50 0.75

Koy H HiH 3.00 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0 556. 0| 7 2 7 7 v I il
33.4 0 ~ 33.5 0 3. 00 3. 00 0.75

Koy H Hih 3. 00 0. 00 0. 00 0.75 135.0 0.0 0.0 135.0 691.0|7 X 7 7 /L [k
33.5 0 ~ 33.6 35 3. 00 3. 00 0.75

Koy H HiH 3.00 0. 00 0. 00 0.75 65.0 0.0 0.0 65.0 756. 0| 7 2 7 7 v Il
33.6 35 ~ 33.7 0 3. 00 2. 00 0.75

Koy H HiH 3.00 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0 856. 0|7 % 7 7 /L [fi%k
33.7 0 ~ 33.8 0 3. 00 2. 00 0.75

Koy H HiH 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0 956. 0|7 % 7 7 /L [k
33.8 0 ~ 33.9 0 3.25 0. 00 1.25

Koy H HiH 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0 1,056.0|7 A7 7 )L st
33.9 0 ~ 34.0 0 3.25 0. 00 1.25

Koy H HiH 3.00 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0 1,156.0|7 A7 7 )L Mgk
34.0 0 ~ 34. 1 0 3. 00 0. 00 1.20

Koy H Hih 3.00 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0 1,256.0|7 A7 7 )L sk
34. 1 0 ~ 34.2 0 3. 00 1.00 1.20

Koy H HiH 3.00 1.00 0. 00 0.75 100. 0 0.0 0.0 100. 0 1,356.0|7 A7 7 )L Mgk
34.2 0 ~ 34.3 0 3. 00 2. 00 0.75

Koy H HiH 3.25 1.00 0. 00 1.00 100. 0 0.0 0.0 100. 0 1,456.0|7 A7 7 )L Mgk
34.3 0 ~ 34. 4 0 3.25 2. 00 1.00
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Koy H HiH 3. 00 1.00 0.00 1.00 100.0 0.0 0.0 100. 0 1,556.0|7 A7 7 /L hfdE
34. 4 0 ~ 34.5 0 3. 00 2. 00 1.00

Koy H HiH 3. 00 1.00 0.00 1.00 100.0 0.0 0.0 100. 0 1,656.0|7 A7 7 /L hfdE
34.5 0 ~ 34. 6 0 3. 00 2. 00 1.00

Koy H HiH 3. 00 1.00 0.00 1.00 103.9 0.0 6.1 110.0 1,766.0|7 A7 7 /L hfdE
34.6 0 ~ 34.7 10 3. 00 2. 00 1.00

Koy H Hih 3. 00 1.00 0.00 0.75 6.0 0.0 0.0 6.0 1,772.0|7 A7 7 )b Mk
34.7 10 ~ 34.7 16 3. 00 2. 00 1.00

Koy H HiH 3. 00 1.00 0.00 1.00 114.0 0.0 0.0 114.0 1,886.0|7 A7 7 /L hfdk
34.7 16 ~ 34.8 30 3. 00 1.50 1.00

Koy H HiH 3. 00 0.00 0.00 1.00 70.0 0.0 0.0 70.0 1,956.0|7 A7 7 /L hfdE
34.8 30 ~ 34.9 0 3. 00 1.50 1.00

Koy H HiH 3. 00 1.00 0.00 1.00 100.0 0.0 0.0 100. 0 2,056. 0|7 A7 7 )L hdk
34.9 0 ~ 35.0 0 3. 00 1.50 1.00

Koy H Hih 3. 00 0.00 0.00 1.00 158.0 0.0 0.0 158.0 2,214. 0|7 A7 7 )b Mdk
35.0 0 ~ 35. 1 58 3. 00 2. 00 1.00

Koy H HiH 3. 00 0.00 0.00 0.50 -0.2 409. 2 0.0 409. 0 2,623. 0|7 A7 7 )L MRk
35. 1 58 ~ 35.5 67 3. 00 0. 00 0. 50

Koy H Hih 3. 00 0.00 0.00 1.00 133.0 0.0 0.0 133.0 2,756. 0|7 A7 7 )L Mjdk
35.5 67 ~ 35.7 0 3. 00 1.50 1.00

Koy H HiH 3. 00 0.00 0.00 1.00 100.0 0.0 0.0 100. 0 2,856. 0|7 A7 7 )L hdk
35.7 0 ~ 35.8 0 3. 00 1.50 1.00

Koy H Hih 3. 00 0.00 0.00 1.00 200. 0 0.0 0.0 200. 0 3, 056. 0| 7 2 7 7 )L &t
35.8 0 ~ 36. 0 0 3. 00 1.50 1.00

Koy H Hih 3. 00 0.00 0.00 1.00 100.0 0.0 0.0 100. 0 3, 156. 0| 7 A2 7 7 )L s
36. 0 0 ~ 36. 1 0 3. 00 1.80 1.00

Koy H Hih 3. 00 0.00 0.00 1.00 100.0 0.0 0.0 100. 0 3, 256. 0| 7 A 7 7 )L ik
36. 1 0 ~ 36. 2 0 3. 00 1.80 1.00
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Koy H HiH 3. 00 0.00 0.00 0.75 100.0 0.0 0.0 100. 0 3, 356. 0| 7 A 7 7 )L s
36. 2 0 ~ 36. 3 0 3. 00 2. 00 0.75

Koy H HiH 3. 00 0.00 0.00 0.75 100.0 0.0 0.0 100. 0 3,456. 0| 7 A2 7 7 )L &k
36. 3 0 ~ 36. 4 0 3. 00 2. 00 0.75

Koy H HiH 3. 00 0.00 0.00 0.75 100.0 0.0 0.0 100. 0 3,556. 0| 7 A 7 7 L &k
36. 4 0 ~ 36.5 0 3. 00 2. 00 0.75

Koy H Hih 3. 00 0.00 0.00 0.75 100.0 0.0 0.0 100. 0 3, 656. 0| 7 2 7 7 )L &k
36.5 0 ~ 36. 6 0 3. 00 2. 00 0.75

Koy H HiH 3. 00 0.00 0.00 0.75 100.0 0.0 0.0 100. 0 3, 756. 0| 7 A 7 7 )L s
36. 6 0 ~ 36.7 0 3. 00 2. 00 0.75

Koy H HiH 3. 00 0.00 0.00 0.75 126.5 0.0 20.5 147.0 3,903.0[ 7 2 7 7 L s
36.7 0 ~ 36. 8 47 3. 00 2. 00 0.75

Koy H HiH 3. 00 0.00 0.00 0.50 53.0 0.0 0.0 53.0 3,956. 0| 7 A 7 7 )L s
36. 8 47 ~ 36.9 0 3. 00 2. 00 1.00

Koy H Hih 3. 00 0.00 0.00 1.25 100.0 0.0 0.0 100. 0 4,056. 0|7 A7 7 )b hdk
36.9 0 ~ 37.0 0 3. 00 1.50 1.25

Koy H HiH 3. 00 0.00 0.00 1.25 100.0 0.0 0.0 100. 0 4, 156. O 7k P42
37.0 0 ~ 37.1 0 3. 00 1.25 1.25

Koy H Hih 3. 00 0.00 0.00 1.25 100.0 0.0 0.0 100. 0 4, 256. 0| HE7K A2
37.1 0 ~ 37.2 0 3. 00 1.50 1.25

Koy H HiH 3. 00 0.00 0.00 1.25 100.0 0.0 0.0 100. 0 4, 356. 0|7k A2
37.2 0 ~ 37.3 0 3. 00 1.50 1.25

Koy H Hih 3. 00 0.00 0.00 3. 00 100.0 0.0 0.0 100. 0 4, 456. 0| HE7k A2
37.3 0 ~ 37.4 0 3. 00 1.00 3. 00

Koy H Hih 3. 00 0.00 0.00 1.25 100.0 0.0 0.0 100. 0 4, 556. 0|7k A2
37.4 0 ~ 37.5 0 3. 00 1.00 1.25

Koy H Hih 3. 00 0.00 0.00 1.50 100.0 0.0 0.0 100. 0 4, 656. 0| 7K A2
37.5 0 ~ 37.6 0 3. 00 1.00 2. 00
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Koy bR E 3. 00 0. 00 0. 00 100. 0 100. 4, 756. 0| HEak PE&lZE
37.6 0 37. 3.00 1. 00

KAy IE B BT 3. 00 0. 00 0. 00 100. 100. 4, 856. 0|7k A2
37.7 0 37. 3.00 1. 00

KAy IE B BT 3. 00 0. 00 0. 00 100. 100. 4, 956. 0|7k A2
37.8 0 37. 3.00 1. 00

KAy IE B BT 3. 00 0. 00 0. 00 100. 100. 5, 056. O[HEZK LA %E
37.9 0 38. 3.00 1. 00

KAy IE B BT 3. 00 0. 00 0. 00 100. 100. 5, 156. OHEZK MEAf%E
38.0 0 38. 3.00 1. 00

KAy IE B BT 3. 00 0. 00 0. 00 100. 100. 5, 256. O[HEK LA %S
38. 1 0 38. 3.00 1. 00

KAy IE B BT 3. 00 0. 00 0. 00 100. 100. 5, 356. O|HEZK LA %E
38.2 0 38. 3.00 1. 80

KAy IE B BT 3. 00 0. 00 0. 00 100. 100. 5, 456. O[HEZK MEAf%E
38.3 0 38. 3.00 5.25

KAy IE B BT 3. 00 0. 00 0. 00 100. 100. 5, 556. O[HEZK LA %E
38.4 0 38. 3.00 2. 50

KAy IE B BT 3. 00 1.50 0. 00 100. 100. 5, 656. O[HEK LA %S
38.5 0 38. 3.00 1. 50

KAy IE B BT 3. 00 1.50 0. 00 100. 100. 5, 756. O[HEZK MEAf%E
38.6 0 38. 3.00 1. 50

KAy IE B BT 3. 00 1.50 0. 00 100. 100. 5, 856. O[HEZK MEAf%E
38.7 0 38. 3.00 1. 50

KAy IE B BT 3. 00 1.50 0. 00 100. 100. 5, 956. O[HEZK MEAf%E
38.8 0 38. 3.00 0.75

Koy R HE 3. 00 1.75 0. 00 100. 100. 6, 056. 0|7 A 7 7 )L hjidk
38.9 0 39. 3.00 1.25
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Koy H HiH 3.00 1.75 0.00 100.0 0. 0. 100. 6,156. 0|7 2 7 7 /L [afidk
39. 0 0 39. 3. 00 0. 00

Koy H HiH 3.00 2.00 0.00 0. 67. 0. 0. 67. 6,223. 0|7 27 7 /L sk
39. 1 0 39. 3. 00 0. 00 3.

Koy H HiH 3.00 3.00 0.00 0. 0. 0. 27. 27. 6,250. 0| 7 2 7 7 /L sk
39. 1 67 39. 3. 00 2. 00 0.

Koy H Hih 3.00 2.00 0.00 3. 106. 0. 0. 106. 6,356. 0|7 2 7 7 /L [aidk
39. 1 94 39. 3. 00 2. 00 4,

Koy H HiH 16. 29 3.00 0.00 0. 100. 0. 0. 100. 6,456. 0| 7 2 7 7 /L [aidk
39. 3 0 39. 11. 05 3. 00 0.

Koy H HiH 3.50 2.31 0.00 1. 100. 0. 0. 100. 6,556. 0| 7 2 7 7 /L sk
39. 4 0 39. 3. 50 2.08 1.

Koy H HiH 3.50 2.01 0.00 100. 0. 0. 100. 6,656. 0|7 2 7 7 /L [aidk
39.5 0 39. 3. 50 1.97

Koy H Hih 3.50 2.07 0.00 -15. 115. 0. 100. 6, 756. 0| 7 2 7 7 /L sk
39. 6 0 39. 3. 50 2. 04

Koy H HiH 3.50 1.94 0.00 100. 0. 0. 100. 6,856. 0|7 2 7 7 /L [ajidk
39.7 0 39. 3. 50 2. 00

Koy H Hih 3.50 4. 47 0.00 -118. 0. 218. 100. 6,956. 0|7 2 7 7 /L [aidk
39. 8 0 39. 3. 50 2.91

Koy H HiH 3.50 2.55 0.00 100. 0. 0. 100. 7,056. 07 2 7 7 /L Lafidk
39.9 0 40. 3. 50 2. 45

Koy H Hih 3.50 2.45 0.00 100. 0. 0. 100. 7,156. 07 2 7 7 /L Lajidk
40.0 0 40. 3. 50 2.53

Koy H Hih 3.50 2.08 0.00 100. 0. 0. 100. 7, 256. O[HEK MEA%E
40. 1 0 40. 3. 50 2.03

Koy H Hih 3.50 2.34 0.00 100. 0. 0. 100. 7, 356. O[HEK MEA%E
40. 2 0 40. 3. 50 2.11
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Koy H HiH 3.50 1. 0. 00 100.0 0. 100. 7, 456. O|HEAk A%
40.3 0 40. 3.50 2.
Koy H HiH 3.50 1. 0. 00 100. 0. 100. 7, 556. 0| HEAk A
40. 4 0 40. 3.50
Koy H HiH 3.50 2. 0. 00 100. 0. 100. 7, 656. O|HEAk M4
40.5 0 40. 3.50 2.
Koy H Hih 3.50 1. 0. 00 100. 0. 100. 7, 756. O|HEak M4
40. 6 0 40. 6. 50 2.
Koy H HiH 3.50 1. 0. 00 0. 20. 80. 100. 7, 856. O|HEAk A
40. 7 0 40. 3.50 0.
Koy H HiH 3.50 2. 0. 00 0. 100. 0. 100. 7, 956. O|HEAk M4
40.8 0 40. 6. 50 2. 0.
Koy H HiH 6. 50 2. 0. 00 0. 100. 0. 100. 8, 056. 0 [HE/K P&
40.9 0 41. 3.50 2. 0.
Koy H Hih 3.50 2. 0. 00 0. 100. 0. 100. 8, 156. O [HEK P&
41.0 0 41. 3.50 2. 0.
Koy H HiH 3.50 2. 0. 00 0. 100. 0. 100. 8,256. 0|7 A7 7 /L ik
41. 1 0 41. 6. 50 0.
Koy H Hih 6. 50 0. 00 0. 100. 0. 100. 8,356. 0|7 A 7 7 /L ik
41.2 0 41. 3.50 0.
Koy H HiH 3.50 2. 0. 00 0. 100. 0. 100. 8,456. 0|7 A 7 7 /L |afidk
41.3 0 41. 3.50 2. 0.
Koy H Hih 3.50 2. 0. 00 0. 40. 0. 40. 8,496. 0|7 A 7 7 /L ik
41. 4 0 42. 3.50 2. 0.
Koy H Hih 3.50 2. 0. 00 1. 300. 0. 300. 8,796.0|7 A7 7 /L il
42.0 0 42. 3.50 2. 0.
Koy H Hih 3.50 2. 0. 00 0. 100. 0. 100. 8,896. 0|7 A 7 7 /L ik
42.3 0 42. 3.50 2. 0.
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Koy H HiH 3. 50 2.00 0.00 8.0 0. 8. 8,904. 0| 7 2 7 7 /L sk
42. 4 0 42. 8 3. 50 2. 00

Koy H HiH 3. 50 2.00 0.00 104.0 0. 104. 9,008. 07 =27 7 /L [aidk
42. 4 8 42. 12 3. 50 2. 00

Koy H HiH 3. 50 2.00 0.00 98.0 0. 98. 9,106. 0|7 2 7 7 /L [aidk
42.5 12 42. 10 3. 50 2. 00

Koy H Hih 3. 50 2.50 0.00 46.0 0. 46. 9,152. 0|7 2 7 7 )L sk
42.6 10 42. 56 3. 50 2. 50

Koy H HiH 3. 50 2.50 0.00 18.0 335. 353. 9,505. 0| 7 2 7 7 /L sk
42.6 56 43. 9 3. 50 2. 50

Koy H HiH 3. 50 2.00 0.00 91.0 0. 91. 9,596. 0|7 2 7 7 /L [aidk
43.0 9 43. 0 3. 50 2. 00

Koy H HiH 3. 50 2.00 0.00 100.0 0. 100. 9,696. 0|7 2 7 7 /L [aidk
43. 1 0 43. 0 3. 50 2. 00

Koy H Hih 3. 50 2.00 0.00 97.0 0. 97. 9,793. 0|7 =27 7 /L [aidk
43.2 0 43. 9 3. 50 2. 00

Koy H HiH 3. 50 2.00 0.00 643. 0 0. 643. 10, 436. 0| 7 A 7 7 )L Mjidk
43.3 9 43. 52 3. 50 2. 00

Koy H Hih 3. 50 2.00 0.00 113.0 0. 113. 10, 549. 0| 7 A 7 7 )L Madk
43.9 52 44, 65 3. 50 2. 00

Koy H HiH 3. 50 2.00 0.00 62. 0 0. 62. 10, 611. 0|7 A 7 7 )L Majdk
44.0 65 44, 27 3. 50 2. 00

Koy H Hih 3. 50 2.00 0.00 54.0 0. 54. 10, 665. 0| 7 A 7 7 )L Midk
44. 1 27 44, 81 3. 50 2. 00

Koy H Hih 3. 50 2.00 0.00 47.0 0. 47. 10, 712. 0|7 A 7 7 )b sk
44. 1 81 44, 28 3. 50 2. 00

Koy H Hih 3. 50 2.50 0.00 0.0 142. 142. 10, 854. 0| 7 A 7 7 )L sk
44.2 28 44, 70 3. 50 2. 50
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Koy H HiH 3. 50 2. 40 0.00 0.75 103.0 0.0 0.0 103.0[ 10, 957. 0|7 =2 7 7 v Ak
44.3 70 ~ 44, 4 73 3. 50 1.50 1.00

Koy H HiH 3.50 2.30 0.00 0.50 0.0 292.0 0.0 292.0( 11,249.0(= > 7 U — Mk
44, 4 73 ~ 44.7 65 3. 50 2.30 0. 50

Koy H HiH 3. 50 3.00 0.00 0.75 20. 0 0.0 0.0 20.0[ 11,269.0[7 %7 7 v &k
44.7 65 ~ 44.7 85 3. 50 3. 00 0.75

Koy H Hih 3. 50 2.50 0.00 0.75 0.4 0.0 122.6 123.0(  11,392.0[7 %2 7 7 v &k
44.7 85 ~ 44.9 8 3. 50 2. 50 0.75

Koy H HiH 3.25 3.00 0.00 0.75 100.0 0.0 0.0 100. 0  11,492. 07 %2 7 7 v &k
44.9 0 ~ 45.0 0 3.25 2. 00 0.75

Koy H HiH 3.25 0.00 0.00 1.75 60. 0 0.0 0.0 60.0[ 11,552.0[7 %27 7 v &k
45.0 0 ~ 45.0 60 3.25 2. 50 1.25

Koy H HiH 3.25 0.00 0.00 1.25 140.0 0.0 0.0 140. 0  11,692. 07 %2 7 7 v &k
45.0 60 ~ 45.2 0 3.25 2.25 2. 00

Koy H Hih 3.25 0.00 0.00 1.50 100.0 0.0 0.0 100. 0  11,792. 07 2 7 7 v &k
45.2 0 ~ 45.3 0 3.25 2. 50 1.50

Koy H HiH 3. 50 0.00 0.00 1.75 100.0 0.0 0.0 100.0[  11,892.0[7 %2 7 7 v s
45.3 0 ~ 45. 4 0 3. 50 1.50 1.50

Koy H Hih 3.25 0.00 0.00 2.00 100.0 0.0 0.0 100.0[  11,992. 07 %2 7 7 v s
45. 4 0 ~ 45.5 0 3.25 1.50 1.75

Koy H HiH 3.25 1.50 0.00 0. 50 100.0 0.0 0.0 100. 0 12, 092. 07 %2 7 7 v s
45.5 0 ~ 45.6 0 3.25 0. 00 1.25

Koy H Hih 3. 00 1.50 0.00 0.50 100.0 0.0 0.0 100. 0  12,192. 07 %2 7 7 v &k
45.6 0 ~ 45.7 0 3. 00 0. 00 1.00

Koy H Hih 3. 00 1.50 0.00 1.00 100.0 0.0 0.0 100. 0  12,292.0[7 %2 7 7 v &k
45.7 0 ~ 45.8 0 3. 00 0. 00 1.00

Koy H Hih 3. 00 1.50 0.00 1.00 49.0 0.0 0.0 49.0( 12,341.0[7 2 7 7 v h sk
45.8 0 ~ 45.8 49 3. 00 0. 00 1.00
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Koy H HiH 3. 00 0.00 49.0 0. 49. 12,390. 0|7 A 7 7 )L sk
45.8 49 45, 98 3. 00 1.

Koy H HiH 3. 00 L. 0.00 14.9 48. 63. 12, 453. 0|7 A 7 7 )b hajdk
45.8 98 45, 61 3. 00 0.

Koy H HiH 3. 00 L. 0.00 100.0 0. 100. 12, 553. 0|7 A 7 7 )L hadk
45.9 61 46. 61 3. 00 0.

Koy H Hih 3. 00 L. 0.00 100.0 0. 100. 12, 653. 0|7 A 7 7 )L Mdk
46.0 61 46. 61 3. 00 0.

Koy H HiH 3. 00 2. 0.00 100.0 0. 100. 12, 753. 0|7 A 7 7 )L Madk
46. 1 57 46. 57 3. 00 0.

Koy H HiH 3. 00 2. 0.00 120.0 0. 120. 12,873. 0|7 A 7 7 )L Mdk
46. 2 57 46. 77 3. 00 0.

Koy H HiH 3. 00 L. 0.00 0. 80. 0 0. 80. 12,953. 0|7 A 7 7 )L Mdk
46.3 77 46. 57 3. 00 0. 0.

Koy H Hih 3. 00 L. 0.00 0. 100.0 0. 100. 13, 053. 0|7 A 7 7 )L hadk
46. 4 57 46. 57 3. 00 0. 0.

Koy H HiH 3. 00 L. 0.00 L. 100.0 0. 100. 13, 153. 0| 7 A 7 7 )L sk
46.5 57 46. 57 3. 00 0. 2.

Koy H Hih 3. 00 L. 0.00 L. 100.0 0. 100. 13, 253. 0|7 A 7 7 )L Madk
46. 6 57 46. 57 3. 00 0. 2.

Koy H HiH 3. 00 2. 0.00 0. 100.0 0. 100. 13, 353. 0|7 A 7 7 )L hadk
46. 7 57 46. 57 3. 00 0. 0.

Koy H Hih 3. 00 0. 0.00 0. 100.0 0. 100. 13, 453. 0|7 A 7 7 )L Madk
46. 8 57 46. 57 3. 00 0.

Koy H Hih 3.25 0.00 0. 100.0 0. 100. 13, 553. 0|7 A 7 7 )L hadk
46.9 57 47. 57 3.25 0.

Koy H Hih 3.25 0.00 0. 104.0 0. 104. 13, 657. 0|7 A 7 7 )L Madk
47.0 57 47. 62 3.25 0.
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Koy B ETH 3.25 0. 00 0. 00 98.0 0. 98. 13, 755. 0| 7 &2 7 7 /L &%
47.1 62 3.25 2. 60

Koy BT 3.25 0. 00 0. 00 136. 0. 136. 13,891. 0| 7 2 7 7 /L &%
47.2 56 3.25 1.80

Koy BT 3.25 0. 00 0. 00 64. 0. 64. 13,955. 0| 7 2 7 7 /L &%
47.3 92 3.25 3. 00

Koy HETTH 3.25 0. 00 0. 00 100. 0. 100. 14, 055. 0| 7 &2 7 7 /L M &fid%E
47,4 56 3.25 1.50

Koy B ETH 3.00 0. 00 0. 00 124. 0. 124. 14,179. 0| 7 2 7 7 v Ml
47.5 56 3.00 1.50

Koy HETTH 3.25 0. 00 0. 00 40. 0. 40. 14,219. 0| 7 2 7 7 v Fli%E
47.6 80 3.25 1.50

Koy BT 3.25 0. 00 0. 00 105. 0. 105. 14, 324. 0| 7 2 7 7 v Mg
47.7 20 3.25 1.50

Koy B ETH 3.00 0. 00 0. 00 0. 0. 149. 149. 14, 473. 0| 7 2 7 7 v Mg
47.8 25 3.00 1.50 0.

Koy B HET 3.00 0. 00 0. 00 1. 126. 0. 126. 14,599. 0| 7 2 7 7 L &%
47.9 74 3.00 2.00 0.

Koy B ETH 3.00 3. 50 0. 00 1. 100. 0. 100. 14, 699. 0| 7 2 7 7 L Ml
48.1 0 3.00 2.00

Koy B ET 3.50 3. 50 0. 00 0. 125. 0. 125. 14, 824. 0| 7 2 7 7 L Ml
48.2 0 3. 50 2.00 0.

Koy B ETH 3.50 3. 50 0. 00 0. 130. 0. 130. 14, 954. 0| 7 2 7 7 L Ml
48.3 25 3. 50 2.00 0.

Koy B ETH 3.00 0. 00 0. 00 1. 90. 0. 90. 15, 044. 0| 7 2 7 7 L M &li%E
48. 4 55 3.00 2.00 0.

Koy HETTH 3.00 0. 00 0. 00 1. 100. 0. 100. 15, 144. 0| 7 2 7 7 v M &li%E
48.5 45 3. 00 1.50 0.
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Koy B ETH 3. 00 0. 00 0.00 1. 100. 0 0. 100. 15, 244. 0| 7 2 7 7 )L Mgk
48. 6 45 3.00 1.50 0.

Koy BT 3.00 0. 00 0. 00 1. 100. 0. 100. 15, 344. 0| 7 2 7 7 L &%
48.7 45 3.00 2.00 0.

Koy BT 3.00 0. 00 0. 00 1. 100. 0. 100. 15, 444. 0| 7 2 7 7 L Ml
48.8 45 3.00 2.00 0.

Koy HETTH 3.00 0. 00 0. 00 1. 100. 0. 100. 15, 544. 0| 7 2 7 7 /L &%
48.9 45 3.00 2.00 0.

Koy B ETH 3.00 0. 00 0. 00 1. 155. 0. 155. 15,699. 0| 7 2 7 7 /L &%
49.0 45 3.00 1.50 1.

Koy HETTH 3.00 0. 00 0. 00 61. 0. 61. 15, 760. 0| 7 2 7 7 /L 1 &fid%E
49,2 0 3. 00 1.50

Koy BT 3.00 0. 00 0. 00 -0. 226. 226. 15,986. 0| 7 &2 7 7 /L 1 &fid%E
49. 2 61 3.00 1.50

Koy B ETH 3.00 0. 00 0. 00 62. 0. 62. 16, 048. 0| 7 2 7 7 /L &%
49. 4 87 3.00 1. 00

Koy B HET 3.00 0. 00 0. 00 100. 0. 100. 16, 148. 0| 7 2 7 7 L M &fid%E
49.5 49 3.00 1.50

Koy B ETH 3.25 0. 00 0. 00 100. 0. 100. 16, 248. 0| 7 2 7 7 L &%
49. 6 50 3.25 3. 00

Koy B ET 3.25 0. 00 0. 00 100. 0. 100. 16, 348. 0| 7 2 7 7 L &%
49.7 50 3.25 3. 00

Koy B ETH 3.25 0. 00 0. 00 92. 0. 92. 16, 440. 0| 7 2 7 7 L &%
49. 8 50 3.25 2.00

Koy B ETH 3.25 0. 00 0. 00 80. 0. 80. 16, 520. 0| 7 2 7 7 L &%
49.9 42 3.25 1.50

Koy HETTH 3.25 0. 00 0. 00 102. 0. 102. 16, 622. 0| 7 2 7 7 L Ml
50. 0 22 3.25 2.50 1.
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Koy H HiH 3.25 0. 0. 00 54.0 0. 54, 16, 676. 0|7 2 7 7 /L &%k
50. 1 24 3.25 1.

Koy H HiH 3.25 0. 0. 00 74.0 0. 74. 16, 750. 0|7 2 7 7 /L &%k
50. 1 78 3.25 1.

Koy H HiH 3.00 0. 0. 00 100. 0 0. 100. 16, 850. 0|7 2 7 7 /L &%k
50.2 52 3. 00 1.

Koy H Hih 3.00 0. 0. 00 100. 0 0. 100. 16, 950. 0|7 2 7 7 /L &%k
50.3 52 3. 00 2.

Koy H HiH 3.00 0. 0. 00 60. 0 0. 60. 17,010. 0|7 2 7 7 /L ik
50.4 52 3. 00 2.

Koy H HiH 3.00 0. 0. 00 6.0 120. 126. 17, 136. 0|7 2 7 7 /L &%k
50. 5 13 3. 00 1.

Koy H HiH 3.00 0. 0. 00 15.0 0. 15. 17, 151. 0|7 A 7 7 /L ik
50.6 36 3. 00 1.

Koy H Hih 3. 00 0. 0. 00 100. 0 0. 100. 17, 251. 0|7 A 7 7 /L ik
50.6 51 3. 00 1.

Koy H HiH 3.00 0. 0. 00 100. 0 0. 100. 17, 351. 0|7 A 7 7 /L ik
50.7 51 3. 00 1.

Koy H Hih 3.00 0. 0. 00 100. 0 0. 100. 17,451. 0|7 A 7 7 /L ik
50.8 51 3. 00 1.

Koy H HiH 3.00 0. 0. 00 100. 0 0. 100. 17,551. 0|7 A 7 7 /L ik
50.9 51 3. 00 1.

Koy H Hih 3.00 1. 0. 00 93.0 0. 93. 17, 644. 0|7 A 7 7 /L ik
51.0 51 3. 00 1.

Koy H Hih 3.25 1. 0. 00 156. 0 0. 156. 17, 800. 0|7 2 7 7 /L &%k
51. 1 44 3.25 3.

Koy H Hih 3.25 2. 0. 00 100. 0 0. 100. 17, 900. 0|7 2 7 7 /L &%k
51.3 0 3.25 3.
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Koy H HiH 3.25 2.50 0. 00 1.25 100. 0 0.0 0.0 100.0|  18,000.0|7 A2 7 7 /L &%
51.4 0 ~ 51.5 0 3.25 1.70 1.25

Koy H HiH 3.25 2.50 0. 00 1.25 100. 0 0.0 0.0 100.0|  18,100.0|7 A 7 7 /L i
51.5 0 ~ 51.6 0 3.25 1.70 1.25

Koy H HiH 3.25 2.50 0. 00 1.25 100. 0 0.0 0.0 100.0|  18,200.0|7 27 7 /L &%
51.6 0 ~ 51.7 0 3.25 1.80 1.25

Koy H Hih 3.25 2.50 0. 00 1.25 108.0 0.0 0.0 108.0|  18,308.0|7 &2 7 7 /L &Lk
51.7 0 ~ 51.8 8 3.25 1.80 1.25

Koy H HiH 3.25 2.50 0. 00 0.75 92.0 0.0 0.0 92.0|  18,400.0|7 A7 7 /L [afiLk
51.8 8 ~ 51.9 0 3.25 1.80 0.75

Koy H HiH 3.25 0. 00 0. 00 1.25 96. 0 0.0 0.0 96.0| 18,496.0|7 27 7 /L [afiLk
51.9 0 ~ 51.9 96 3.25 1.50 1.25

Koy H HiH 3.00 0. 00 0. 00 2. 00 50. 0 0.0 0.0 50.0| 18,546.0|7 % 7 7 /L [fi%E
51.9 96 ~ 52. 0 46 3. 00 1.50 0. 50

Koy H Hih 3. 00 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  18,646.0|7 2 7 7 /L [afidk
52. 0 46 ~ 52. 1 46 3. 00 1.50 1.00

Koy H HiH 3.00 2.20 0. 00 1.00 100. 0 0.0 0.0 100.0|  18,746.0|7 2 7 7 /L &%k
52. 1 46 ~ 52. 2 46 3. 00 1.50 1.00

Koy H Hih 3.00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  18,846.0|7 2 7 7 /L [afidk
52. 2 46 ~ 52.3 46 3. 00 1.50 1.00

Koy H HiH 3.00 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  18,946.0|7 A 7 7 /L &%k
52.3 46 ~ 52.4 46 3. 00 1.50 1.00

Koy H Hih 3.00 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0| 19, 046. 0|7 2 7 7 /L &%
52.4 46 ~ 52.5 46 3. 00 1.50 1.00

Koy H Hih 3.00 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0| 19, 146. 0|7 2 7 7 /L &%k
52.5 46 ~ 52. 6 46 3. 00 1.50 1.00

Koy H Hih 3.00 0. 00 0. 00 1.00 48.0 0.0 0.0 48.0|  19,194.0|7 A7 7 /L ik
52. 6 46 ~ 52. 6 94 3. 00 1.50 1.00
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Koy H HiH 3.00 0. 0. 00 52.0 0. 0. 52. 19, 246. 0|7 A 7 7 )L sk
52.7 94 3.00 1.

Koy H HiH 3.00 0. 0. 00 100.0 0. 0. 100. 19, 346. 0| 7 A 7 7 )L Madk
52.8 46 3.00 1.

Koy R HE 3.00 0. 0. 00 100. 0 0. 0. 100. 19, 446. 0|7 2 7 7 /L ik
52.9 46 3.00 1.

Koy R HE 3.00 0. 0. 00 100. 0 0. 0. 100. 19, 546. 0|7 2 7 7 /L ik
53.0 46 3.00 1.

Koy R HE 3.00 0. 0. 00 100. 0 0. 0. 100. 19, 646. 0|7 2 7 7 /L itk
53. 1 46 3.00 1.

Koy H HiH 3.00 0. 0. 00 100.0 0. 0. 100. 19, 746. 0|7 A 7 7 )L Mafdk
53.2 46 3.00 1.

Koy H HiH 3.00 0. 0. 00 50. 0 0. 0. 50. 19, 796. 0|7 A 7 7 )L Fafdk
53.3 46 3.00 1.

Koy H Hih 3.00 L. 0. 00 104.0 0. 0. 104. 19, 900. 0|7 A 7 7 )L sk
53.3 96 3.00 1.

Koy H HiH 3.00 0. 0. 00 145.0 0. 0. 145. 20, 045. 0| 7 =2 7 7 v | it
53.5 0 3.00 1.

Koy H Hih 3.00 0. 0. 00 0. -21.3 0. 431. 410. 20, 455. 0| 7 =2 7 7 v | ik
53.6 45 3.00 1. 0.

Koy R HE 3.00 0. 0. 00 L. 30.0 0. 0. 30. 20, 485. 0| 7 A 7 7 /L [k
54.0 55 3.00 1. 0.

Koy H Hih 3.00 0. 0. 00 0. -8.3 127. 0. 119. 20, 604. 0| 7 =2 7 7 v | ik
54.0 85 3.00 1. 0.

KoyB BT 3.00 0. 0. 00 1. 12.0 0. 0. 12. 20, 616. 07 2 7 7 L Nk
54. 2 4 3.00 1. 0.

Koy H Hih 3.00 0. 0. 00 0. -1.0 0. 240. 239. 20, 855. 0| 7 =2 7 7 v | ik
54. 2 16 3.00 1. 0.
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Koy H HiH 3.00 0. 0. 00 84.0 0. 84. 20,939. 0|7 A 7 7 /L [k
54.4 55 3. 00 1.

Koy H HiH 3.00 0. 0. 00 111. 0. 111. 21,050. 0| 7 & 7 7 /L ik
54.5 39 3. 00 1.

Koy H HiH 3.00 0. 0. 00 100. 0. 100. 21,150. 0| 7 & 7 7 /L ik
54.6 50 3. 00 1.

Koy H Hih 3.00 0. 0. 00 100. 0. 100. 21, 250. 0| 7 A2 7 7 /L [k
54.7 50 3. 00 1.

Koy H HiH 3.00 0. 0. 00 100. 0. 100. 21, 350. 0| 7 & 7 7 /L ik
54.8 50 3. 00 1.

Koy H HiH 3.00 0. 0. 00 60. 0. 60. 21,410. 0|7 & 7 7 /b [k
54.9 50 3. 00 1.

Koy H HiH 3.00 0. 0. 00 70. 0. 70. 21, 480. 0|7 A 7 7 /L [fi%k
55. 0 10 3. 00 1.

Koy H Hih 3. 00 0. 0. 00 63. 12. 76. 21,556. 0|7 & 7 7 /L [k
55.0 80 3. 00 1.

Koy H HiH 3.00 0. 0. 00 13. 0. 13. 21,569. 0|7 & 7 7 /L %k
55. 1 56 3. 00 1.

Koy H Hih 3.25 0. 0. 00 54, 0. 54, 21,623.0| 7 & 7 7 /L [afidk
55. 1 69 3.25 1.

Koy H HiH 3.25 0. 0. 00 0. 84. 84. 21,707. 0| 7 &2 7 7 /b ik
55. 2 13 3.25 1.

Koy H Hih 3.00 0. 0. 00 53. 0. 53. 21,760. 0|7 & 7 7 /L [k
55.2 97 3. 00 1.

Koy H Hih 3.00 0. 0. 00 100. 0. 100. 21,860. 0|7 % 7 7 /L ik
55.3 50 3. 00 1.

Koy H Hih 3.00 0. 0. 00 100. 0. 100. 21,960. 0|7 % 7 7 /L [k
55.4 50 3. 00 2.
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Koy B ETH 3.00 0. 00 0. 00 90. 0 0. 90. 22,050. 0| 7 2 7 7 v NajidE
55.5 50 3. 00 2. 00 1.

Koy BT 3. 00 0. 00 0.00 0. 0.0 141. 141. 22,191. 0|7 &2 7 7 /L Mgk
55. 6 40 3. 00 1.50 0.

Koy BT 3.00 0. 00 0. 00 1. 68.0 0. 68. 22,259. 0|7 2 7 7 v NajidE
55. 7 81 3. 00 2. 00 0.

Koy HETTH 3. 00 1. 50 0. 00 1. 100. 0 0. 100. 22, 359. O [HEAK MEAfi%E
55. 8 49 3. 00 1.50 1.

Koy B ETH 3. 00 1. 50 0. 00 129. 0 0. 129. 22, 488. O [HEAK MEAfi%E
55.9 49 3. 00 1.50

Koy HETTH 3. 00 1. 50 0. 00 1. 122.0 0. 122. 22, 610. O[HEAK MEEf%E
56. 0 78 3. 00 1. 60 2.

Koy BT 3.00 1.50 0. 00 1. 40.0 0. 40. 22, 650. O|HEk Mgl
56. 2 0 3. 00 2. 50 0.

Koy B ETH 3.00 0. 00 0.00 0. 0.4 407. 408, 23,058. 07 &2 7 7 /L Mgk
56. 2 40 3. 00 2. 50 0.

Koy B HET 3. 00 0. 00 0.00 1. 165.0 0. 165. 23,223.0(7 2 7 7 )L Mgk
56. 6 48 3. 00 2. 00 0.

Koy B ETH 3.00 0. 00 0. 00 0. 0.0 21. 21. 23,244. 0|7 2 7 7 v s
56. 8 13 3. 00 2. 00 0.

Koy B ET 3. 00 0. 00 0.00 2. 116.0 0. 116. 23,360.0(7 &2 7 7 /L Mgk
56. 8 34 3. 00 2. 00 0.

Koy B ETH 3. 00 0. 00 0.00 1. 100. 0 0. 100. 23,460. 07 2 7 7 /L Mgk
56.9 50 3. 00 2. 00 0.

Koy B ETH 3.00 0. 00 0.00 1. 100. 0 0. 100. 23,560.0(7 &2 7 7 /L Mgk
57.0 50 3. 00 2. 00 0.

Koy HETTH 3.00 0. 00 0.00 1. 100. 0 0. 100. 23,660.0(7 &2 7 7 /L Mgk
57. 1 50 3. 00 2. 50 0.
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KAy B EH 3.00 0. 00 0. 00 1. 50 30.0 0.0 0. 30. 23,690. 0|7 A 7 7 /L %k
57.2 50 57. 80 3. 00 2. 50 0. 50

Koy H HiH 3. 00 0. 00 0. 00 0. 50 0.1 0.0 139. 140. 23,830. 0|7 A 7 7 /L [k
57.2 80 57. 20 3. 00 2. 50 0. 50

KAy B HEH 3.00 0. 00 0. 00 1. 50 115.0 0.0 0. 115. 23,945. 0|7 A 7 7 /L ik
57.4 20 57. 35 3. 00 2. 50 0. 50

Koy H Hih 3.00 0. 00 0. 00 1. 50 165. 0 0.0 0. 165. 24,110. 0| 7 A2 7 7 /b [k
57.5 35 57. 0 3. 00 2. 00 0. 50

Koy H HiH 3.00 0. 00 0. 00 1. 00 82.0 0.0 0. 82. 24,192. 0|7 A2 7 7 /L [k
57.7 0 57. 82 3. 00 2. 00 0. 50

Koy W H HiH 3.00 0.00 0.00 0.50 8.5 0.0 155. 164. 24, 356. 0| 7 2 7 7 )L ik
57.7 82 57. 46 3. 00 2. 50 0. 50

Koy H HH 3.00 0.00 0.00 0.50 100.0 0.0 0. 100. 24, 456. 0| 7 2 7 7 )L Gk
57.9 46 58. 46 3. 00 0. 00 0. 50

Koy H Hih 3. 00 0. 00 0. 00 1. 00 100. 0 0.0 0. 100. 24, 556. 0| 7 A 7 7 /L [fi%k
58. 0 46 58. 47 3. 00 1.70 0. 50

Koy H HiH 3.00 0. 00 0. 00 1. 00 100. 0 0.0 0. 100. 24, 656. 0|7 & 7 7 /L [afidk
58. 1 47 58. 47 3. 00 1.70 0. 50

KAy B HEH 3.00 0. 00 0. 00 1. 00 100. 0 0.0 0. 100. 24, 756. 0| 7 A 7 7 /L ik
58. 2 47 58. 47 3. 00 1.70 0.75

Koy H HiH 3.00 0. 00 0. 00 1. 00 100. 0 0.0 0. 100. 24, 856. 0|7 A 7 7 /L [fidk
58. 3 47 58. 47 3. 00 1.70 0. 50

Koy H Hih 3.00 0. 00 0. 00 1. 00 100. 0 0.0 0. 100. 24,956. 0|7 & 7 7 /L [afidk
58.4 47 58. 47 3. 00 1.70 0. 50

Koy H Hih 3.00 0. 00 0. 00 1. 00 100. 0 0.0 0. 100. 25,056. 0|7 & 7 7 /L ik
58.5 47 58. 47 3. 00 1.70 0. 50

Koy H Hih 3.00 0. 00 0. 00 1. 00 100. 0 0.0 0. 100. 25,156. 0|7 & 7 7 /L [k
58. 6 47 58. 47 3. 00 1.70 0. 50
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Koy H HiH 3. 00 0.00 0.00 100.0 0. 0. 100. 25, 256. 0| 7 2 7 7 )L Gk
58. 7 47 58. 47 3. 00 1.70

Koy H HiH 3. 00 0.00 0.00 100. 0. 0. 100. 25, 356. 0| 7 2 7 7 )L Gk
58. 8 47 58. 47 3. 00 1.70

Koy H HiH 3. 00 0.00 0.00 110. 0. 0. 110. 25, 466. 0| 7 2 7 7 )L Gk
58. 9 47 59. 56 3. 00 1.70

Koy H Hih 3. 00 0.00 0.00 21. 0. 0. 21. 25, 487. 0| 7 2 7 7 )L ik
59. 0 56 59. 97 3. 00 1.70

Koy H HiH 3. 00 0.00 0.00 103. 0. 0. 103. 25,590. 0| 7 2 7 7 )L ik
59. 0 97 59. 0 3. 00 1.50

Koy H HiH 3. 00 0.00 0.00 78. 0. 21. 100. 25, 690. 0| 7 2 7 7 )L &tk
59. 2 0 59. 0 3. 00 1.50

Koy H HiH 3. 00 3.00 0.00 100. 0. 0. 100. 25, 790. 0| 7 2 7 7 )L it
59. 3 0 59. 2 3. 00 1.50

Koy H Hih 3.25 1.00 0.00 100. 0. 0. 100. 25, 890. 0| 7 2 7 7 )L ik
59. 4 2 59. 0 3.25 1.50

Koy H HiH 3.25 1.00 0.00 60. 0. 82. 143. 26, 033. 0| 7 2 7 7 v it
59. 5 0 59. 43 3.25 0. 00

Koy H Hih 3.25 0. 00 0. 00 0. —424. 541. 0. 117. 26, 150. 0| 7 & 7 7 /L ik
59. 6 43 59. 60 3.25 2. 50 0.

Koy H HiH 3.25 0.75 0.00 0. 520. 0. 0. 520. 26,670.0[= > 7 U — hEfzE
59. 7 60 60. 80 3.25 2. 00 0.

Koy H Hih 3.25 0.00 0.00 0. 29. 0. 151. 180. 26, 850. O|HEAK MEAf%E
60. 2 80 60. 60 3.25 2. 50 0.

Koy H Hih 3. 00 2.00 0.00 0. 113. 0. 0. 113. 26, 963. 57 2 7 7 )L Gk
60.4 60 60. 26 3. 00 0. 00 0.

Koy H Hih 3. 00 1.50 0.00 0. 180. 0. 0. 180. 27, 143. 57 2 7 7 )L &k
60. 8 26 61. 6 3. 00 0. 00 0.
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Koy H HiH 3.00 1. 30 0. 00 1. 00 94.0 0.0 0.0 94.0| 27,237.5|7 27 7 v Rk
61.0 6 ~ 61.1 0 3. 00 0. 00 1. 00

Koy H HiH 3.00 1. 30 0. 00 1. 00 100.0 0.0 0.0 100. 0|  27,337.5|7 2 7 7 L MLk
61.1 0 ~ 61.2 0 3. 00 0. 00 0. 50

Koy H HiH 3.00 1. 00 0. 00 0.75 100.0 0.0 0.0 100. 0|  27,437.5|7 2 7 7 L MLk
61.2 0 ~ 61.2 100 3. 00 0. 00 1.25

Koy H Hih 3.00 1. 00 0. 00 0.75 125.0 0.0 0.0 125.0[  27,562.5|7 2 7 7 L MLk
61.3 0 ~ 61.4 25 3. 00 0. 00 1.25

Koy H HiH 3.00 1. 00 0. 00 0. 50 73.0 0.0 0.0 73.0|  27,635.5|7 2 7 7L ML
61.4 25 ~ 61.4 98 3. 00 0. 00 0. 50

Koy H HiH 3.00 1. 50 0. 00 0.75 67.0 0.0 0.0 67.0| 27,702.5|7 27 7 Rk
61.4 98 ~ 61.5 65 3. 00 0. 00 1. 00

Koy H HiH 3.00 1. 50 0. 00 0.75 2.0 0.0 73.0 75.0|  27,777.5|7 2 7 7 v ML
61.5 65 ~ 61.6 40 3. 00 0. 00 1. 00

Ko7 REAREREALRIT 3. 00 1.00 0. 00 0. 50 127.0 0.0 0.0 127.0]  27,904.5|7 2 7 7 /L ik
61.6 40 ~ 61.7 67 3. 00 1. 00 0. 50

Koy REAREREALRAT 3. 00 1.00 0. 00 1.00 6.0 0.0 127.0 133.0]  28,037.5|7 27 7 /L [k
61.7 67 ~ 61.9 0 3. 00 1. 00 1.25

Koy REAREREALRAT 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0| 28, 137.5|7 2 7 7 /L [k
61.9 0 ~ 62. 0 0 3. 00 0. 00 1.25

Koy REAREREALRIT 3. 00 1.00 0. 00 1.25 100. 0 0.0 0.0 100.0|  28,237.5|7 27 7 /L [afidk
62. 0 0 ~ 62. 1 0 3. 00 0. 00 1.75

Koy REAREREALRIT 3. 00 1.00 0. 00 1.00 108. 0 0.0 0.0 108.0|  28,345.5|7 2 7 7 /L [afidk
62. 1 0 ~ 62. 2 8 3. 00 0. 00 1.25

Koy REATREREALRAT 3. 00 1.00 0. 00 1.00 92.0 0.0 0.0 92.0| 28,437.5|7 A7 7 /L ik
62. 2 8 ~ 62. 3 0 3. 00 0. 00 1. 00

Koy REAREREALRAT 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  28,537.5|7 A7 7 /L ik
62. 3 0 ~ 62. 4 3 3. 00 0. 00 1. 50
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Koy REAREREALRIT 3. 00 1.00 0. 00 1.00 112.0 0.0 0.0 112.0|  28,649.5|7 2 7 7 /L i
62. 4 3 ~ 62.5 12 3. 00 0. 00 1. 00
Koy REAREREALRIT 3. 00 1.00 0. 00 1.00 0.5 393.5 0.0 394.0(  29,043.5|7 27 7L Il
62.5 12 ~ 62. 9 6 3. 00 1. 00 1. 00
Koy REALREREALRIT 3. 00 1.00 0. 00 1.00 94.0 0.0 0.0 94.0| 29,137.5|7 A7 7 /L ik
62. 9 6 ~ 63. 0 0 3. 00 0. 00 1. 00
Koy REAREREALRAT 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  29,237.5|7 27 7 /L ik
63. 0 0 ~ 63. 1 5 3. 00 0. 00 1. 00
Koy L EAEREREAERIT 3. 00 1. 00 0. 00 0. 50 100.0 0.0 0.0 100. 0 29, 337. 5|HEAk A%
63. 1 5 ~ 63. 2 0 3. 00 0. 00 0.75
Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 0. 50 100.0 0.0 0.0 100. 0 29, 437. 5|HekMEE%E
63. 2 0 ~ 63. 3 0 3. 00 0. 00 1. 50
Koy WL EAEREREAERIT 3. 00 2. 50 0. 00 0. 50 100.0 0.0 0.0 100. 0 29, 537. 5|HEAkMEE%E
63. 3 0 ~ 63. 4 0 3. 00 0. 00 1. 50
Koy WL EAEREREAERRT 3. 00 2. 00 0. 00 1. 00 100.0 0.0 0.0 100. 0 29, 637. 5|HEAMEE%E
63. 4 0 ~ 63.5 0 3. 00 0. 00 1. 50
Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 1. 00 100.0 0.0 0.0 100. 0 29, 737. 5|HEAkMEE%E
63.5 0 ~ 63. 6 0 3. 00 0. 00 1. 50
Koy WL EAEREREAERRT 3. 00 1. 50 0. 00 0.75 100.0 0.0 0.0 100. 0 29, 837. 5|He/kMEAl%E
63. 6 0 ~ 63. 7 0 3. 00 0. 00 0.75
Koy WL EAEREREAERRT 3. 00 1. 50 0. 00 0.75 100.0 0.0 0.0 100. 0 29, 937. 5|HEkMEE%E
63. 7 0 ~ 63. 8 0 3. 00 0. 00 0.75
Koy VL EAEREREAERRT 3. 00 1. 50 0. 00 0.75 100.0 0.0 0.0 100. 0 30, 037. 5|HEAkMEE%E
63. 8 0 ~ 63.9 0 3. 00 0. 00 0.75
Ko7 VL EAEREREAERRT 3. 00 1. 50 0. 00 0.75 100.0 0.0 0.0 100. 0 30, 137. 5|HEk A%
63.9 0 ~ 64. 0 0 3. 00 2. 00 0.75
Koy L EAEREREAERRT 3. 00 2. 00 0. 00 0. 50 100.0 0.0 0.0 100. 0 30, 237. 5|HEAkMEE%E
64. 0 0 ~ 64. 1 0 3. 00 2. 00 0. 50
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Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 0. 50 100.0 0.0 0.0 100. 0 30, 337. 5|HEAMEE%E
64. 1 0 ~ 64. 2 0 3. 00 2. 00 0. 50

Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 0.75 100.0 0.0 0.0 100. 0 30, 437. 5|HEAk A%
64. 2 0 ~ 64. 3 0 3. 00 2. 00 0.75

Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 0.25 100.0 0.0 0.0 100. 0 30, 537. 5|HEA A%
64. 3 0 ~ 64.3 100 3. 00 2. 00 0.25

Koy L EAEREREAERIT 3. 00 2. 50 0. 00 1.75 100.0 0.0 0.0 100. 0 30, 637. 5|HEAK A%
64. 4 0 ~ 64.5 5 3. 00 2. 50 1.75

Koy L EAEREREAERIT 3. 00 2. 50 0. 00 1.75 100.0 0.0 0.0 100. 0 30, 737. 5|HEAk A%
64. 5 5 ~ 64. 6 7 3. 00 3. 00 1.75

Koy WL EAEREREAERIT 3. 00 2. 50 0. 00 0.75 100.0 0.0 0.0 100. 0 30, 837. 5|HEAkMEAl%E
64. 6 7 ~ 64. 7 7 3. 00 2. 00 0.75

Koy WL EAEREREAERIT 3. 00 1. 50 0. 00 1. 50 100.0 0.0 0.0 100. 0 30, 937. 5|HEAK A%
64. 7 7 ~ 64. 8 0 3. 00 2. 00 1. 50

Koy WL EAEREREAERRT 3. 00 2. 00 0. 00 0. 50 100.0 0.0 0.0 100. 0 31, 037. 5|HEAk A%
64. 8 0 ~ 64.8 100 3. 00 2. 00 1. 00

Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 0. 50 94. 6 0.0 5.4 100. 0 31, 137. 5|HeakMEEl%E
64. 9 0 ~ 65. 0 0 3. 00 1. 00 1. 00

Koy WL EAEREREAERRT 3.25 2. 00 0. 00 0. 50 4.9 0.0 26. 1 31.0[ 31, 168. 5|HEA M Ali%k
65. 0 0 ~ 65. 2 14 3.25 1. 50 0. 50

Koy WL EAEREREAERRT 3. 00 2. 00 0. 00 0. 50 27.0 0.0 0.0 27.0( 31, 195. 5|HEAk LA
65. 2 14 ~ 65.2 41 3. 00 2. 00 0. 50

Koy VL EAEREREAERRT 3. 00 2. 00 0. 00 0.75 59. 0 0.0 0.0 59.0( 31, 254. 5|HEA M Al%E
65.2 41 ~ 65. 3 0 3. 00 1. 50 0.75

Ko7 VL EAEREREAERRT 3. 00 1. 00 0. 00 0.75 100.0 0.0 0.0 100. 0 31, 354. 5|HEAkMEAl%E
65. 3 0 ~ 65. 4 0 3. 00 0. 50 0.75

Koy L EAEREREAERRT 3. 00 1. 00 0. 00 1.25 100.0 0.0 0.0 100. 0 31, 454. 5|HEkMEE%E
65. 4 0 ~ 65.5 0 3. 00 1. 50 0.75
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Koy REAREREALRIT 3.00 2. 0. 00 100. 0 100. 31, 554. 5 [HEA A
65. 5 0~ 3.00 1.
Ry VL EAERAREAERIT 3.00 2. 0. 00 100. 100. 31,654.5|7 A7 7L [k
65. 6 0~ 3.00 1.
KRGy VL EAERAREAERIT 3.00 2. 0. 00 0. 100. 100. 31, 754.5|7 A7 7 )b ik
65. 7 0~ 3.00 0. 0.
KRGy VL EAERAREAERIT 3.00 3. 0. 00 1. 100. 100. 31,854.5|7 A7 7 )L Mk
65. 8 0~ 3.00 2. 0.
Ry B EAERAREAERIT 3.00 3. 0. 00 0. 130. 130. 31,984.5|7 A7 7/ iz
65. 9 0~ 3.00 2. 0.
Koy WL EAEREREAERIT 3.00 3. 0. 00 0. 70. 70. 32,054. 57 A7 7 v b Efidk
66.0 30 ~ 3.00 2. 0.
KRGy VL EAERAREAERIT 3.00 0. 0. 00 0. 100. 100. 32, 154.5|7 A7 7 ) fidk
66. 1 0~ 3.00 2. 0.
Ko7 REAREREALRIT 3.00 2. 0. 00 1. 100. 100. 32, 254. 5 [HEA A
66. 2 0~ 3.00 2.
Koy REAREREALRAT 3.00 2. 0. 00 1. 138. 138. 32, 392. 5 [HEA A
66. 3 0~ 3.00 2. 0.
Koy REAREREALRAT 3.00 2. 0. 00 0. 62. 62. 32, 454. 5 [HEA A
66.4 38 ~ 3.00 2. 0.
Koy REAREREALRIT 3.00 2. 0. 00 0. 100. 100. 32, 554. 5 [HEA A
66. 5 0~ 3.00 1. 0.
Koy REAREREALRIT 3.00 0. 0. 00 0. 100. 100. 32, 654. 5 [HEA A
66. 6 0~ 3.00 1. 0.
Koy REATREREALRAT 3.00 2. 0. 00 0. 48. 48. 32, 702. 5 [HEA A
66. 7 0~ 3.00 1. 0.
Koy REAREREALRAT 3.00 0. 0. 00 0. 152. 152. 32, 854. 5 [HEAK A
66.7 48 ~ 3.00 1. 0.
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Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 0.75 100.0 0.0 0.0 100. 0 32, 954. 5|HEAKMEE%E
66. 9 0 ~ 67.0 0 3. 00 1. 50 0.75

Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 0.75 100.0 0.0 0.0 100. 0 33, 054. 5|HEAKMEE%E
67.0 0 ~ 67. 1 0 3. 00 1. 50 0.75

Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 0.75 100.0 0.0 0.0 100. 0 33, 154. 5|HEkMEEl%E
67. 1 0 ~ 67. 2 0 3. 00 1. 20 0.75

Koy L EAEREREAERIT 3. 00 2. 00 0. 00 0.75 100.0 0.0 0.0 100. 0 33, 254. 5|HEAkMEE%E
67. 2 0 ~ 67.3 0 3. 00 1. 50 0.75

Koy L EAEREREAERIT 3. 00 2. 00 0. 00 0.75 100.0 0.0 0.0 100. 0 33, 354. 5|HEAkMEA%E
67.3 0 ~ 67. 4 0 3. 00 2. 00 0.75

Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 0.75 100.0 0.0 0.0 100. 0 33, 454. 5|HEkMEE%E
67. 4 0 ~ 67.5 0 3. 00 2. 00 0.75

Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 0.75 80. 0 0.0 0.0 80.0[ 33, 534. 5|HEAk M
67.5 0 ~ 67.5 80 3. 00 2. 00 0.75

Koy WL EAEREREAERRT 3. 00 2. 00 0. 00 1.25 105.0 0.0 0.0 105. 0 33, 639. 5|HEk A%
67.5 80 ~ 67.6 85 3. 00 2. 00 1.25

Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 0.75 115.0 0.0 0.0 115. 0 33, 754. 5|HEskMEEl%E
67.6 85 ~ 67.8 0 3. 00 2. 00 1.25

Koy WL EAEREREAERRT 3. 00 2. 00 0. 00 0.25 100.0 0.0 0.0 100. 0 33, 854. 5|HEAkMEAl%E
67.8 0 ~ 67.9 0 3. 00 2. 00 0.25

Koy WL EAEREREAERRT 3. 00 2. 00 0. 00 0.25 100.0 0.0 0.0 100. 0 33, 954. 5|HEAkMEE%E
67.9 0 ~ 68. 0 0 3. 00 2. 00 0.25

Koy VL EAEREREAERRT 3. 00 2. 00 0. 00 0.25 100.0 0.0 0.0 100. 0 34, 054. 5|HEk M2
68. 0 0 ~ 68. 1 0 3. 00 2. 00 0.25

Ko7 VL EAEREREAERRT 3. 00 2. 50 0. 00 0.25 150.0 0.0 0.0 150. 0 34, 204. 5|HEK ML %
68. 1 0 ~ 68. 2 50 3. 00 3. 50 0. 25

Koy L EAEREREAERRT 3. 00 2. 00 0. 00 0.25 -91.5 0.0 140. 5 49.0[ 34, 253. 5|HEAKMEEEE
68. 2 50 ~ 68.2 99 3. 00 2. 50 0.25
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Koy REAREREALRIT 3. 00 1.00 0. 00 140. 0 0. 140. 34,393. 5|7 2 7 7 v Il
68.2 99 ~ 3. 00 1. 00
Koy WL EAEREREAERIT 3.00 2.00 0. 00 51. 0. 51. 34, 444. 5| HEAKPERHEE
68.4 39 ~ 3. 00 2.00
Koy WL EAEREREAERIT 3.25 2.00 0. 00 100. 0. 100. 34, 544. 5| HEAKPEAHLE
68.4 90 ~ 3.25 2.00
Koy L EAEREREAERIT 3.25 2. 50 0. 00 100. 0. 100. 34, 644. 5| HEAKPEAHLE
68.5 90 ~ 3.25 2.00
Koy L EAEREREAERIT 3.25 1.70 0. 00 100. 0. 100. 34, 744. 5| HEAKPERHEE
68.6 90 ~ 3.25 1. 70
Koy WL EAEREREAERIT 3.25 1.70 0. 00 100. 0. 100. 34, 844. 5| HEAKPEHLE
68.7 90 ~ 3.25 1. 70
Koy WL EAEREREAERIT 3.25 1. 20 0. 00 100. 0. 100. 34, 944. 5| HEAKPEAHLE
68.8 90 ~ 3.25 1. 20
Koy WL EAEREREAERRT 3.25 1. 20 0. 00 100. 0. 100. 35, 044. 5|HEAKPEAHLE
68.9 90 ~ 3.25 1. 20
Koy WL EAEREREAERIT 3.25 1.25 0. 00 110. 0. 110. 35, 154. 5| HEAKPEAHLE
69.0 90 ~ 3.25 1. 20
Koy REAREREALRAT 3.25 1.50 0. 00 2. 15. 17. 35, 171. 5|7 2 7 7 /v 1 il
69. 2 0 ~ 3.25 1. 50
Koy REAREREALRIT 3.25 2. 00 0. 00 110. 0. 110. 35,281. 5|7 2 7 7 L 1l
69. 2 17 ~ 3.25 1. 50
Koy REAREREALRIT 3.25 2. 00 0. 00 100. 0. 100. 35,381. 5|7 2 7 7 v 1l
69.3 27 ~ 3.25 1. 50
Koy REATREREALRAT 3.25 2.50 0. 00 100. 0. 100. 35,481. 5|7 2 7 7 v Il
69.4 27 ~ 3.25 1. 50
Koy REAREREALRAT 3.25 2.50 0. 00 100. 0. 100. 35,581. 5|7 2 7 7 L Il
69.5 26 ~ 3.25 1. 50
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Koy REAREREALRIT 3.25 2. 00 0. 00 1.50 100. 0 0.0 0.0 100.0|  35,681.5|7 27 7 /L [afidk
69.6 26 ~ 69. 7 30 3.25 1. 50 1. 50

Koy REAREREALRIT 3.25 2. 00 0. 00 1.50 100. 0 0.0 0.0 100.0|  35,781.5|7 A7 7 /L [k
69. 7 30 ~ 69. 8 30 3.25 1. 50 1. 50

Koy REALREREALRIT 3.25 1.50 0. 00 2.25 100. 0 0.0 0.0 100.0|  35,881.5|7 27 7 /L [afidk
69. 8 30 ~ 69. 9 30 3.25 1. 50 2.25

Koy REAREREALRAT 3.25 1.50 0. 00 1.50 100. 0 0.0 0.0 100.0|  35,981.5|7 27 7 /L [afid
69. 9 30 ~ 70. 0 30 3.25 1. 50 1. 50

Koy REAREREALRAT 3.25 2. 00 0. 00 1.75 100. 0 0.0 0.0 100.0| 36, 081.5|7 27 7 /L [
70. 0 30 ~ 70. 1 30 3.25 1. 50 1.75

Ko7 REAREREALRIT 3.25 2. 00 0. 00 2.25 100. 0 0.0 0.0 100.0| 36, 181.5|7 2 7 7 /L [k
70. 1 30 ~ 70. 2 30 3.25 2. 00 2.25

Ko7 REALREREALRIT 3.25 2. 00 0. 00 2. 00 100. 0 0.0 0.0 100.0|  36,281.5|7 27 7 /L [afidk
70. 2 30 ~ 70. 3 30 3.25 2. 00 2. 00

Ko7 REAREREALRIT 3.25 2. 00 0. 00 2.25 100. 0 0.0 0.0 100.0|  36,381.5|7 27 7 /L [afidk
70. 3 30 ~ 70.4 30 3.25 2. 00 2.25

Koy REAREREALRAT 3.25 2. 00 0. 00 2.25 100. 0 0.0 0.0 100.0|  36,481.5|7 27 7 /L [afiLk
70.4 30 ~ 70. 5 30 3.25 2. 00 2.25

Koy REAREREALRAT 3.25 2. 00 0. 00 2.25 100. 0 0.0 0.0 100.0|  36,581.5|7 A7 7 /L [afidk
70.5 30 ~ 70. 6 30 3.25 2. 00 2.25

Koy REAREREALRIT 3.25 2. 00 0. 00 2.25 100. 0 0.0 0.0 100.0|  36,681.5|7 27 7 /L [afiLk
70. 6 30 ~ 70. 7 30 3.25 2. 00 2.25

Koy REAREREALRIT 3.25 2. 00 0. 00 2.25 100. 0 0.0 0.0 100.0| 36, 781.5|7 A 7 7 /L [afiLk
70. 7 30 ~ 70. 8 30 3.25 2. 00 2.25

Koy REATREREALRAT 3.25 2. 00 0. 00 2.25 100. 0 0.0 0.0 100.0|  36,881.5|7 27 7 /L [afidk
70. 8 30 ~ 70.9 30 3.25 2. 00 2.25

Koy REAREREALRAT 3.25 2. 00 0. 00 2.25 100. 0 0.0 0.0 100.0|  36,981.5|7 27 7 /L [k
70.9 30 ~ 71.0 30 3.25 2. 00 2.25
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KRGy VL EAERAREAERIT 3.25 2.00 0. 00 2. 100. 0 100. 37,081. 5|7 A7 7 )b Mifi%k
7.0 30 ~ 30 3.25 2. 00 2.

RGT REAEREREAZRAT 3.25 2.00 0. 00 2. 100. 100. 37,181.5|7 A7 7 /L hi%
711 30 ~ 30 3.25 2. 00 2.

KRGy VL EAERAREAERIT 3.25 2.00 0. 00 2. 100. 100. 37,281.5|7 A7 7 v NMifi%s
7.2 30 ~ 30 3.25 2. 00 2.

RGT RERERFREAZRAT 3.25 2.00 0. 00 2. 100. 100. 37,381.5|7 A7 7 /L %
71.3 30 ~ 30 3.25 2. 50 2.

Ry B EAERAREAERIT 3.25 1. 50 0. 00 2. 100. 100. 37,481. 5|7 A7 7 v NMifi%s
71.4 30 ~ 30 3.25 1. 50 2.

RT REAERFREAZRAT 3.25 2.00 0. 00 2. 100. 100. 37,581.5|7 A7 7 /L hhi%s
7.5 30 ~ 30 3.25 2. 00 2.

KRGy VL EAERAREAERIT 3.25 2.00 0. 00 L. 100. 100. 37,681. 5|7 A7 7 )b NMifi%s
7.6 30 ~ 30 3.25 2.00

KT REREREREAZRAT 3.25 2.00 0. 00 100. 100. 37,781.5|7 A7 7 /b hhi%
71.7 30 ~ 30 3.25 2.00

Koy WL EAEREREAERIT 3.25 2.00 0. 00 100. 100. 37, 881. 5| HEAKPEAHLE
71.8 30 ~ 30 3.25 2.00

K53 WEEAEREREAERHT 3.25 2.00 0. 00 100. 100. 37, 981. 5| HEAKHEAH%E
7.9 30 ~ 30 3.25 2.00

Koy WL EAEREREAERRT 3.25 2.00 0. 00 100. 100. 38, 081. 5| HEAKMEAHLE
72.0 30 ~ 30 3.25 2.00

Koy VL EAEREREAERRT 3.25 2.00 0. 00 100. 100. 38, 181. 5|HEAKMEAHLE
72.1 30 ~ 30 3.25 2.50

Ko7 VL EAEREREAERRT 3.25 1. 50 0. 00 100. 100. 38, 281. 5| HEAKMEAHLE
72.2 30 ~ 30 3.25 1. 50

Koy L EAEREREAERRT 3.25 1. 50 0. 00 100. 100. 38, 381. 5| HEAKMEAHLE
72.3 30 ~ 30 3.25 1. 50
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Koy WL EAEREREAERIT 3.25 1. 50 0. 00 1.75 100.0 0.0 0.0 100. 0 38, 481. 5|HEAkMEAl%E
72.4 30 ~ 72.5 30 3.25 1. 50 1.75

Koy WL EAEREREAERIT 3.25 1. 50 0. 00 1.75 100.0 0.0 0.0 100. 0 38, 581. 5|HEAkMEAl%E
72.5 30 ~ 72.6 30 3.25 1. 50 1.75

Koy WL EAEREREAERIT 3.25 1. 50 0. 00 1.75 100.0 0.0 0.0 100. 0 38, 681. 5|HEAkMEl%E
72.6 30 ~ 72.7 30 3.25 1. 00 1.75

Koy L EAEREREAERIT 3.25 1. 50 0. 00 1.75 100.0 0.0 0.0 100. 0 38, 781. 5|HEAkMEAl%E
72.7 30 ~ 72.8 30 3.25 2. 00 1.75

Koy L EAEREREAERIT 3.25 1. 50 0. 00 1.75 100.0 0.0 0.0 100. 0 38, 881. 5|HEAkMEAl%E
72.8 30 ~ 72.9 30 3.25 2. 00 1.75

Koy WL EAEREREAERIT 3.25 1. 50 0. 00 1.75 100.0 0.0 0.0 100. 0 38, 981. 5|HE/kMEAl%E
72.9 30 ~ 73.0 30 3.25 2. 00 1.75

Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 0.75 100.0 0.0 0.0 100.0f 39, 081. 5|HEAKMEA%E
73.0 30 ~ 73. 1 30 3. 00 2. 00 0.75

Koy WL EAEREREAERRT 3. 00 2. 00 0. 00 0.75 100.0 0.0 0.0 100.0f 39, 181. 5|HE/kMEAl%E
73.1 30 ~ 73.2 30 3. 00 2. 00 0.75

Koy WL EAEREREAERIT 3. 00 2. 00 0. 00 0.75 100.0 0.0 0.0 100. 0 39, 281. 5|HEkMEAl%E
73.2 30 ~ 73.3 30 3. 00 2. 00 0.75

Koy WL EAEREREAERRT 3. 00 2. 00 0. 00 0.25 100.0 0.0 0.0 100. 0 39, 381. 5|HEAkMEAl%E
73.3 30 ~ 73.4 30 3. 00 2. 00 0.25

Koy WL EAEREREAERRT 3. 00 2. 00 0. 00 0.25 100.0 0.0 0.0 100. 0 39, 481. 5|HEkMEAl%E
73.4 30 ~ 73.5 30 3. 00 2. 00 0.25

Koy VL EAEREREAERRT 3. 00 2. 00 0. 00 0.25 100.0 0.0 0.0 100. 0 39, 581. 5|HEAkMEEl%E
73.5 30 ~ 73.6 30 3. 00 2. 00 0.25

Ko7 VL EAEREREAERRT 3. 00 2. 00 0. 00 0.25 90. 0 0.0 0.0 90.0[ 39, 671. 5|HEAK M
73.6 30 ~ 73.7 20 3. 00 2. 00 0. 25

Koy EEAERARJLERRT 3. 00 2. 00 0. 00 1.25 105.0 0.0 0.0 105. 0 39, 776. 5|HEAKMEE%E
73.7 20 ~ 73.8 25 3. 00 2. 50 1.25
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Koy REARERJLE AT 3. 00 2. 00 0. 00 0. 75.0 0. 75. 39, 851. 5 [HEAPEAfZE
73.8 25 ~ 73. 3. 00 2. 00 0.

Koy REALRERJLE T 3. 00 1.80 0. 00 0. 100. 0 0. 100. 39, 951. 5 [HEAPEAfZE
73.9 0 ~ 74. 3. 00 1. 00 0.

Koy REARERJLERT 3. 00 2. 00 0. 00 0. 100. 0 0. 100. 40, 051. 5|7 & 7 7 /L [k
74.0 0 ~ 74. 3. 00 3. 00 0.

Koy REALRERJLE T 3. 00 1.00 0. 00 0. 42.0 0. 42. 40, 093. 5|7 & 7 7 /L [k
74. 1 0 ~ 74. 3. 00 2. 00 0.

Koy REALRERJLE T 3. 00 2. 00 0. 00 0. 65.0 0. 65. 40, 158. 5|7 A2 7 7 /L [k
74. 1 42 ~ 74. 3. 00 3. 00 0.

Koy REARERJLE AT 3. 00 2.50 0. 00 0. -0.4 8. 8. 40, 166. 5|7 & 7 7 /L [k
74.2 7 ~ 74. 3. 00 3. 00 0.

Koy REALRERJLE AT 3. 00 2. 00 0. 00 0. 85.0 0. 85. 40, 251. 5|7 X 7 7 )L [k
74.2 15 ~ 74. 3. 00 3. 00 0.

Koy REALRERJLE T 3. 00 2. 00 0. 00 0. 100. 0 0. 100. 40, 351. 5|7 A 7 7 /L [k
74.3 0 ~ 74. 3. 00 3. 00 0.

Koy REARERJLE AT 3. 00 2. 00 0. 00 0. -56. 2 165. 109. 40, 460. 5|7 A 7 7 /L [afi%E
74. 4 0 ~ 74. 3. 00 3. 00 0.

Koy REALRERJLE AT 3. 00 1.00 0. 00 0. 166. 0 0. 166. 40, 626. 5| HEACHEAH%E
74.5 9 ~ 74. 3. 00 1. 00 0.

Koy REARERJLE T 3. 00 1.00 0. 00 0. 125.0 0. 125. 40, 751. 5|7 X 7 7 /b [k
74.6 75 ~ 74. 3. 00 1. 50 0.

Koy REARERJLE T 3. 00 1.00 0. 00 0. 100. 0 0. 100. 40, 851. 5|7 A 7 7 /L [k
74. 8 0 ~ 74. 3. 00 1. 00 0.

Koy REATRERJLE T 3. 00 1.00 0. 00 0. 100. 0 0. 100. 40,951. 5|7 &2 7 7 /L [k
74.9 0 ~ 75. 3. 00 1. 00 0.

Koy REARERJLE T 3. 00 1.00 0. 00 0. 100. 0 0. 100. 41,051. 5|7 A2 7 7 /L [k
75.0 0 ~ 75. 3. 00 1. 00 0.
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Koy REARERJLE AT 3. 00 1.00 0. 00 0.75 100. 0 0.0 0.0 100.0| 41, 151.5|7 2 7 7 /L ik
75. 1 0 ~ 75.2 0 3. 00 1. 00 0.75

Koy REALRERJLE T 3. 00 1.00 0. 00 0.75 100. 0 0.0 0.0 100.0|  41,251.5|7 27 7 /L ik
75.2 0 ~ 75.3 0 3. 00 1. 00 0.75

Koy REARERJLERT 3. 00 1.00 0. 00 0.75 100. 0 0.0 0.0 100.0|  41,351.5|7 27 7 /L %k
75.3 0 ~ 75. 4 0 3. 00 1. 00 0.75

Koy REALRERJLE T 3. 00 1.50 0. 00 0.75 100. 0 0.0 0.0 100.0|  41,451.5|7 2 7 7 /L i
75. 4 0 ~ 75.5 0 3. 00 1. 00 0.75

Koy REALRERJLE T 3. 00 1.00 0. 00 0.75 125.0 0.0 0.0 125.0|  41,576.5|7 27 7 /L ik
75.5 0 ~ 75.6 25 3. 00 1. 00 0.75

Koy REARERJLE AT 3.25 1.50 0. 00 1.75 70.0 0.0 0.0 70.0|  41,646.5|7 X 7 7 /L %
75.6 25 ~ 75.6 95 3.25 1. 50 1.75

Koy REALRERJLE AT 3.25 1.50 0. 00 1.75 105.0 0.0 0.0 105.0|  41,751.5|7 A7 7 /L ik
75.6 95 ~ 75.8 0 3.25 1. 50 1.75

Koy REALRERJLE T 3.25 3.50 0. 00 2. 00 100. 0 0.0 0.0 100.0|  41,851.5|7 27 7 /L i
75. 8 0 ~ 75.9 0 3.25 1. 50 1. 50

Koy REARERJLE AT 3.25 4. 00 0. 00 1.50 100. 0 0.0 0.0 100.0|  41,951.5|7 27 7 /L [afidk
75.9 0 ~ 76.0 0 3.25 1. 50 1. 50

Koy REALRERJLE AT 3.25 2.50 0. 00 1.00 102. 0 0.0 0.0 102.0|  42,053.5|7 27 7 /L [k
76. 0 0 ~ 76. 1 2 3.25 1.25 1.25

Koy REARERJLE T 3. 00 1.25 0. 00 0. 50 0.0 0.0 72.0 72.0|  42,125.5|7 X 7 7 /L Nafi%E
76. 1 2 ~ 76. 1 74 3. 00 1. 50 0. 50

Koy REARERJLE T 3.25 1.25 0. 00 0. 50 126.0 0.0 0.0 126.0|  42,251.5|7 A7 7 /L [afidk
76. 1 74 ~ 76.3 0 3.25 0. 00 1.25

Koy REATRERJLE T 3.25 1.00 0. 00 1.25 100. 0 0.0 0.0 100.0|  42,351.5|7 27 7 /L [afidk
76. 3 0 ~ 76. 4 0 3.25 1.25 1.25

Koy REARERJLE T 3.25 1.25 0. 00 0.75 100. 0 0.0 0.0 100.0|  42,451.5|7 27 7 /L ik
76. 4 0 ~ 76.5 0 3.25 1. 00 1.25
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Koy REARERJLE AT 3.25 0. 00 0. 00 2. 50 100. 0 0.0 0.0 100.0|  42,551.5|7 A7 7 /L ik
76.5 0 ~ 76. 6 0 3.25 1. 50 0.75

Koy REALRERJLE T 3.25 1.00 0. 00 0.75 100. 0 0.0 0.0 100.0|  42,651.5|7 A7 7 /L [afidk
76. 6 0 ~ 76. 7 0 3.25 1.25 0.75

Koy REARERJLERT 3.25 1.25 0. 00 0.75 100. 0 0.0 0.0 100.0| 42, 751.5|7 A7 7 /L [afidk
76. 7 0 ~ 76. 8 0 3.25 1.25 0.75

Koy REALRERJLE T 3.25 1.50 0. 00 0.75 100. 0 0.0 0.0 100.0|  42,851.5|7 A7 7 /L ik
76. 8 0 ~ 76.9 0 3.25 1.25 0.75

Koy REALRERJLE T 3.25 1.00 0. 00 0.75 100. 0 0.0 0.0 100.0|  42,951.5|7 27 7 /L [k
76.9 0 ~ 77.0 0 3.25 1. 00 0.75

Koy REARERJLE AT 3.25 1.00 0. 00 1.25 100. 0 0.0 0.0 100.0|  43,051.5|7 27 7 /L [afidk
77.0 0 ~ 77. 1 0 3.25 1. 00 1.25

Koy REALRERJLE AT 3.25 1.00 0. 00 1.25 64. 0 0.0 25.0 89.0|  43,140.5|7 A7 7 /L ik
77.1 0 ~ 77. 1 89 3.25 1. 00 1.25

Koy REALRERJLE T 3.25 0.75 0. 00 0. 50 25.0 0.0 0.0 25.0|  43,165.5|7 A7 7 /L ik
77.1 89 ~ 77.2 14 3.25 0.75 0. 50

Koy REARERJLE AT 3.25 3. 00 0. 00 0.75 131.0 0.0 0.0 131.0|  43,296.5|7 27 7 /L [afi%k
77.2 14 ~ 77.3 45 3.25 4. 00 1. 00

Koy REALRERJLE AT 3.25 2.50 0. 00 0. 50 155. 0 0.0 0.0 155.0|  43,451.5|7 A7 7 /L ik
77.3 45 ~ 77.5 0 3.25 2. 50 1.25

Koy REARERJLE T 3.25 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100.0|  43,551.5|7 A7 7 /L ik
77.5 0 ~ 77.6 0 3.25 2. 50 1. 50

Koy REARERJLE T 3. 00 2. 00 0. 00 2.25 100. 0 0.0 0.0 100.0|  43,651.5|7 27 7 /L Lk
77.6 0 ~ 77.7 0 3. 00 2. 00 0.75

Koy REATRERJLE T 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100.0|  43,751.5|7 A7 7 /L [afidk
77.7 0 ~ 77.8 0 3.25 2. 50 0.75

Koy REARERJLE T 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  43,851.5|7 A7 7 /L ik
77.8 0 ~ 77.9 0 3. 00 0. 00 0.75
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Koy REARERJLE AT 3. 00 1.25 0. 00 100. 0 0. 100. 43,951. 5|7 X 7 7 /L [k
77.9 0 ~ 78. 3. 00 0. 00
Koy REALRERJLE T 3. 00 1.25 0. 00 100. 0. 100. 44,051. 5|7 A2 7 7 )b [k
78.0 0 ~ 78. 3. 00 0. 00
Koy REARERJLERT 3. 00 1.25 0. 00 108. 0. 108. 44,159. 5|7 A 7 7 )b [k
78. 1 0 ~ 78. 3. 00 0. 00
Koy REALRERJLE T 3. 00 2.25 0. 00 122. 0. 122. 44, 281. 5|7 A 7 7 )b [k
78.2 8 ~ 78. 3. 00 1. 00
Koy REALRERJLE T 3. 00 1.75 0. 00 1. 70. 0. 70. 44, 351. 5|7 X 7 7 )b [k
78.3 30 ~ 78. 3. 00 2. 00 0.
Koy REARERJLE AT 3. 00 2.50 0. 00 1. 43. 0. 43, 44, 394. 5| HEACHEAH%E
78. 4 0 ~ 78. 3. 00 1. 00 0.
Koy REALRERJLE AT 3. 00 1.00 0. 00 1. 0. 44, 44, 44, 438. 5| HEACHEAR%E
78.4 43 ~ 78. 3. 00 1. 00
Koy REALRERJLE T 3.25 1.30 0. 00 0. 44, 0. 44, 44, 482. 5| HEACHEAR%E
78.4 87 ~ 78. 3.25 0. 50 0.
Koy REARERJLE AT 3.25 1.00 0. 00 0. 0. 13. 14. 44, 496. 5| HEACHEAH%E
78.5 31 ~ 78. 3.25 1. 00 0.
Koy REALRERJLE AT 3.25 1.25 0. 00 0. 155. 0. 155. 44, 651. 5| HEACHEAR%E
78.5 45 ~ 78. 3.25 1. 50 0.
Koy REARERJLE T 3.25 1.00 0. 00 0. 100. 0. 100. 44, 751. 5| HEACHEAR%E
78.7 0 ~ 78. 3.25 1. 00 0.
Koy REARERJLE T 3.25 0.75 0. 00 0. 100. 0. 100. 44, 851. 5| HEACHEAH%E
78.8 0 ~ 78. 3.25 1. 50 0.
Koy REATRERJLE T 3. 00 1.00 0. 00 0. 100. 0. 100. 44, 951. 5| HEACHEAR%E
78.9 0 ~ 79. 3. 00 1. 00
Koy REARERJLE T 3.25 1.50 0. 00 100. 0. 100. 45, 051. 5| HEACHEAH%E
79.0 0 ~ 79. 3.25 1. 50
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Koy REARERJLE AT 3.25 1.50 0. 00 94. 8 5. 100. 45, 151. 5| HEACHEA%E
79. 1 0 ~ 3.25 1.75
Koy REALRERJLE T 3.25 2.20 0. 00 100. 0 0. 100. 45, 251. 5| HEACHEAR%E
79. 2 0 ~ 3.25 1. 50
Koy REARERJLERT 3.25 1.50 0. 00 0.0 25. 25. 45, 276. 5| HEACHEAR%E
79. 3 0 ~ 3.25 1. 50
Koy REALRERJLE T 3.25 0. 00 0. 00 175.0 0. 175. 45, 451. 5| HEACHEAR%E
79.3 25 ~ 3.25 2.15
Koy REALRERJLE T 3.25 2.50 0. 00 100. 0 0. 100. 45, 551. 5| HEACHEAR%E
79.5 0 ~ 3.25 2. 40
Koy REARERJLE AT 3. 00 1.00 0. 00 100. 0 0. 100. 45, 651. 5| HEACHEAR%E
79. 6 0 ~ 3. 00 2. 00
Koy REALRERJLE AT 3. 00 1.00 0. 00 100. 0 0. 100. 45, 751. 5| HEACHEAH%E
79.7 0 ~ 3. 00 2. 10
Koy REALRERJLE T 3. 00 0. 00 0. 00 52.0 0. 52. 45, 803. 5| HEACHEAH%E
79. 8 0 ~ 3. 00 2. 00
Koy REARERJLE AT 3. 00 1.00 0. 00 0.0 20. 20. 45,823. 5|7 A 7 7 )L [afidk
79.8 52 ~ 3. 00 2. 00
Koy REALRERJLE AT 3. 00 1.80 0. 00 128.0 0. 128. 45,951. 5|7 X 7 7 )b [k
79.8 72 ~ 3. 00 2. 00
Koy REARERJLE T 3. 00 1.00 0. 00 100. 0 0. 100. 46,051. 5|7 & 7 7 /L [k
80. 0 0 ~ 3. 00 2. 00
Koy REARERJLE T 3. 00 1.25 0. 00 100. 0 0. 100. 46, 151. 5|7 & 7 7 /L [k
80. 1 0 ~ 3. 00 2. 00
Koy REATRERJLE T 3. 00 2. 00 0. 00 100. 0 0. 100. 46, 251. 5|7 A 7 7 )L [k
80. 2 0 ~ 3. 00 1.75
Koy REARERJLE T 3. 00 1.50 0. 00 100. 0 0. 100. 46, 351. 5|7 A 7 7 /L [afidkE
80. 3 0 ~ 3. 00 1. 50
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Koy REARERJLE AT 3. 00 1.00 0. 00 1.00 25.0 0.0 0.0 25.0|  46,376.5|7 A7 7 /L [afiLk
80. 4 0 ~ 80.4 25 3. 00 2. 00 1. 00

Koy REALRERJLE T 3. 00 1.00 0. 00 0. 50 1.7 0.0 33.3 35.0|  46,411.5|7 X7 7 /L Nafidk
80.4 25 ~ 80.4 60 3. 00 1. 00 0. 50

Koy REARERJLERT 3. 00 1.00 0. 00 1.00 40. 0 0.0 0.0 40.0|  46,451.5|7 A7 7 /L Lk
80.4 60 ~ 80.5 0 3. 00 1. 00 1. 00

Koy REALRERJLE T 3. 00 1.00 0. 00 0. 50 -0.3 0.0 51.3 51.0|  46,502.5|7 % 7 7 /L [fi%k
80.5 0 ~ 80.5 51 3. 00 1. 00 0. 50

Koy REALRERJLE T 3. 00 0. 00 0. 00 1.00 149. 0 0.0 0.0 149.0| 46, 651.5|7 A 7 7 /L [afidk
80.5 51 ~ 80. 7 0 3. 00 1. 00 1. 00

Koy REARERJLE AT 3. 00 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0| 46, 751.5|7 A 7 7 /L [afidk
80. 7 0 ~ 80. 8 0 3. 00 1.25 1. 00

Koy REALRERJLE AT 3. 00 0. 00 0. 00 1.50 100. 0 0.0 0.0 100.0| 46, 851.5|7 27 7 /L [afidk
80. 8 0 ~ 80. 9 0 3. 00 2. 00 0. 50

Koy REALRERJLE T 3. 00 0. 00 0. 00 1.75 100. 0 0.0 0.0 100.0| 46, 951.5|7 27 7 /L [afi%k
80. 9 0 ~ 81.0 0 3. 00 2. 30 0. 50

Koy REARERJLE AT 3. 00 0. 00 0. 00 1.75 100. 0 0.0 0.0 100.0|  47,051.5|7 27 7 /L [
81.0 0 ~ 81.1 0 3. 00 1. 50 0. 50

Koy REALRERJLE AT 3. 00 0. 00 0. 00 1.50 115.0 0.0 0.0 115.0|  47,166.5|7 2 7 7 /L &%
81.1 0 ~ 81.2 15 3. 00 1.25 0. 50

Koy REARERJLE T 3. 00 0. 00 0. 00 1.75 85.0 0.0 0.0 85.0| 47,251.5|7 A7 7 /L ik
81.2 15 ~ 81.3 0 3. 00 2.35 0. 50

Koy REARERJLE T 3. 00 0. 00 0. 00 1.50 100. 0 0.0 0.0 100.0|  47,351.5|7 27 7 /L Lk
81.3 0 ~ 81. 4 0 3. 00 1.75 0. 50

Koy REATRERJLE T 3. 00 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100.0|  47,451.5|7 2 7 7 /L il
81. 4 0 ~ 81.5 0 3. 00 2. 00 0. 50

Koy REARERJLE T 3. 00 0. 00 0. 00 1.20 68. 0 0.0 0.0 68.0| 47,519.5|7 A7 7 /L [k
81.5 0 ~ 81.5 68 3. 00 0. 00 0. 50
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Koy REARERJLE AT 3. 00 0. 00 0. 00 0. 50 1.0 0.0 25.0 26.0|  47,545.5|7 A7 7 /L ik
81.5 68 ~ 81.5 94 3. 00 0. 00 0. 50

Koy REALRERJLE T 3. 00 0. 00 0. 00 1.00 106. 0 0.0 0.0 106.0|  47,651.5|7 A7 7 /L [afidk
81.5 94 ~ 81.7 0 3.25 0. 00 0.75

Koy REARERJLERT 3. 00 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  47,751.5|7 A7 7 /L ik
81.7 0 ~ 81.8 0 3.25 1. 50 0.75

Koy REALRERJLE T 3. 00 1.00 0. 00 2.25 50. 0 0.0 0.0 50.0|  47,801.5|7 % 7 7 /L [k
81.8 0 ~ 81.8 50 3. 00 1.75 1. 50

Koy REALRERJLE T 3. 00 0.50 0. 00 0.75 -2.0 26.0 0.0 24.0|  47,825.5|7 A7 7 /L ik
81.8 50 ~ 81.8 74 3. 00 0. 50 0.75

Koy REARERJLE AT 3. 00 1.25 0. 00 1.25 126.0 0.0 0.0 126.0|  47,951.5|7 A 7 7 /L [k
81.8 74 ~ 82. 0 3 3. 00 1. 50 2.50

Koy REALRERJLE AT 3. 00 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100.0|  48,051.5|7 27 7 /L [k
82. 0 0 ~ 82. 1 0 3. 00 0. 00 0. 50

Koy REALRERJLE T 3. 00 0. 00 0. 00 1.00 50. 4 0.0 19.6 70.0|  48,121.5|7 X 7 7 /b NafidkE
82. 1 0 ~ 82. 1 70 3. 00 0. 00 0.75

Koy REARERJLE AT 3. 00 0. 00 0. 00 0. 50 18.0 0.0 0.0 18.0 48,139.5|7 27 7 /L sk
82. 1 70 ~ 82. 1 88 3. 00 0. 00 0. 50

Koy REALRERJLE AT 3. 00 0. 00 0. 00 1.00 112.0 0.0 0.0 112.0|  48,251.5|7 A7 7 /L [k
82. 1 88 ~ 82. 3 0 3. 00 0. 00 0.75

Koy REARERJLE T 3. 00 0. 00 0. 00 1.00 96. 7 0.0 3.3 100.0|  48,351.5|7 27 7 /L ik
82. 3 0 ~ 82. 4 0 3. 00 0. 50 1.25

Koy REARERJLE T 3. 00 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  48,451.5|7 A7 7 /L [k
82. 4 0 ~ 82.5 0 3. 00 0. 50 1.25

Koy REATRERJLE T 3. 00 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  48,551.5|7 A7 7 /L [afidk
82.5 0 ~ 82. 6 0 3. 00 0. 00 1.25

Koy REARERJLE T 3. 00 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  48,651.5|7 A7 7 /L ik
82. 6 0 ~ 82. 7 0 3. 00 0. 00 1.25
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Koy REARERJLE AT 3. 00 0. 00 0. 00 100. 0 0. 100. 48, 751. 5|7 A 7 7 /L [k
82. 7 0 ~ 82. 100 3. 00 0. 00

Koy REALRERJLE T 3. 00 0. 00 0. 00 100. 0. 100. 48,851. 5|7 A 7 7 /L [fidkE
82. 8 0 ~ 82. 100 3. 00 0. 00

Koy REARERJLERT 3. 00 0. 00 0. 00 100. 0. 100. 48,951. 5|7 A2 7 7 /L [afidk
82.9 0 ~ 82. 100 3. 00 0. 00

Koy REALRERJLE T 3. 00 0. 00 0. 00 100. 0. 100. 49,051. 5|7 A 7 7 /L ik
83.0 0 ~ 83. 100 3. 00 0. 00

Koy REALRERJLE T 3. 00 0. 00 0. 00 100. 0. 100. 49,151. 5|7 2 7 7 /L [k
83. 1 0 ~ 83. 0 3. 00 0. 00

Koy REARERJLE AT 3. 00 0. 00 0. 00 100. 0. 100. 49, 251. 5|7 A 7 7 )L [k
83. 2 0 ~ 83. 0 3. 00 0. 00

Koy REALRERJLE AT 3. 00 0. 00 0. 00 100. 0. 100. 49, 351. 5|7 A 7 7 )L [afidk
83.3 0 ~ 83. 0 3. 00 0. 00

Koy REALRERJLE T 3. 00 1.50 0. 00 67. 0. 67. 49, 418. 5|7 A 7 7 )L [k
83. 4 0 ~ 83. 67 3. 00 0. 00

Koy REARERJLE AT 3. 00 1.50 0. 00 0. 110. 110. 49, 528. 5|7 A 7 7 )L [afidkE
83.4 67 ~ 83. 75 3. 00 0. 00

Koy REALRERJLE AT 3. 00 1.50 0. 00 125. 0. 125. 49, 653. 5|7 A 7 7 /L [afidkE
83.5 75 ~ 83. 0 3. 00 0. 00

Koy REARERJLE T 3. 00 2. 00 0. 00 87. 0. 87. 49, 740. 5|7 A 7 7 )b [k
83.7 0 ~ 83. 87 3. 00 0. 00

Koy REARERJLE T 3. 00 1.50 0. 00 0. 70. 70. 49, 810. 5| HEACHEAH%E
83.7 87 ~ 83. 57 3. 00 0. 00

Koy REATRERJLE T 3.25 1.80 0. 00 144. 0. 144. 49,954, 5|7 X 7 7 )L [k
83.8 57 ~ 84. 0 3.25 1. 50

Koy REARERJLE T 3.25 1.50 0. 00 100. 0. 100. 50, 054. 5|7 2 7 7 )L I il
84. 0 0 ~ 84. 0 3.25 2. 00
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Koy REARERJLE AT 3. 00 2. 00 0. 00 1.20 100. 0 0.0 0.0 100.0| 50, 154. 5|7 2 7 7 /L i
84. 1 0 ~ 84. 2 0 3. 00 0. 00 1.25

Koy REALRERJLE T 3. 00 2. 00 0. 00 1.00 100. 0 0.0 0.0 100.0| 50, 254. 5|7 2 7 7 /L &%k
84. 2 0 ~ 84. 3 0 3. 00 2. 00 1. 00

Koy REARERJLERT 3. 00 2. 00 0. 00 1.00 108. 0 0.0 0.0 108.0| 50, 362.5|7 A7 7 /L [afiLk
84. 3 0 ~ 84. 6 0 3. 00 0. 00 1. 50

Koy REALRERJLE T 3. 00 1.25 0. 00 1.00 100. 0 0.0 0.0 100.0| 50, 462.5|7 27 7 /L &Lk
84. 6 0 ~ 84. 7 0 3. 00 0. 00 1. 50

Koy REALRERJLE T 3. 00 0. 00 0. 00 0.75 100. 0 0.0 0.0 100.0|  50,562.5|7 27 7 /L ik
84. 7 0 ~ 84. 8 0 3. 00 0. 00 1. 50

Koy REARERJLE AT 3. 00 1.50 0. 00 1.00 105.0 0.0 0.0 105.0| 50, 667.5|7 27 7 /L [afiLk
84. 8 0 ~ 84. 9 5 3. 00 0. 00 1. 50

Koy REALRERJLE AT 3. 00 1.25 0. 00 1.00 95.0 0.0 0.0 95.0| 50,762.5|7 A7 7 /L ik
84.9 5 ~ 85. 0 0 3. 00 0. 00 1. 50

Koy REALRERJLE T 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0| 50, 862.5|7 27 7 /L [afiLk
85. 0 0 ~ 85. 1 0 3. 00 0. 00 1. 50

Koy REARERJLE AT 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0| 50, 962.5|7 27 7 /L &%k
85. 1 0 ~ 85. 2 0 3. 00 1. 00 1. 00

Koy REALRERJLE AT 3. 00 1.00 0. 00 1.00 70.0 0.0 0.0 70.0| 51,032.5|7 %X 7 7 /L [afidkE
85. 2 0 ~ 85.2 170 3. 00 0. 00 2. 00

Koy REARERJLE T 3. 00 1.00 0. 00 0.75 1.0 0.0 25.0 26.0| 51,058.5|7 A7 7 /L [afidk
85.2 70 ~ 85.2 96 3. 00 0. 00 0.75

Koy REARERJLE T 3. 00 1.00 0. 00 1.00 104. 0 0.0 0.0 104.0| 51, 162.5|7 27 7 /L ik
85.2 96 ~ 85. 4 0 3. 00 0. 00 1. 00

Koy REATRERJLE T 3. 00 2. 00 0. 00 1.00 76.0 0.0 0.0 76.0| 51,238.5|7 X7 7L [afi%kE
85. 4 0 ~ 85.4 76 3. 00 0. 00 1. 00

Koy REARERJLE T 3. 00 1.00 0. 00 0.75 0.1 0.0 12.9 13.0[  51,251.5(7 27 7 /L sk
85.4 76 ~ 85.4 89 3. 00 0. 00 1. 00
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Koy REARERJLE AT 3. 00 1.00 0. 00 1.00 111.0 0.0 0.0 111.0|  51,362.5|7 27 7 /L i
85.4 89 ~ 85. 6 0 3. 00 0. 00 1. 00

Koy REALRERJLE T 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  51,462.5|7 27 7 /L ik
85. 6 0 ~ 85. 7 0 3. 00 0. 00 1. 50

Koy REARERJLERT 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  51,562.5|7 27 7 /L [afi%k
85. 7 0 ~ 85. 8 0 3. 00 0. 00 1. 50

Koy REALRERJLE T 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  51,662.5|7 27 7 /L [afiLk
85. 8 0 ~ 85. 9 0 3. 00 0. 00 1. 50

Koy REALRERJLE T 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  51,762.5|7 27 7 /L [
85.9 0 ~ 86. 0 0 3. 00 0. 00 1. 50

Koy REARERJLE AT 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  51,862.5|7 27 7 /L [afidk
86. 0 0 ~ 86. 1 0 3. 00 0. 00 1.70

Koy REALRERJLE AT 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  51,962.5|7 27 7 /L [afi%k
86. 1 0 ~ 86. 2 0 3. 00 0. 00 1. 50

Koy REALRERJLE T 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  52,062.5|7 27 7 /L ik
86. 2 0 ~ 86. 3 0 3. 00 0. 00 2.50

Koy REARERJLE AT 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0| 52, 162.5|7 27 7 /L [afi%k
86. 3 0 ~ 86. 4 0 3. 00 0. 00 1. 50

Koy REALRERJLE AT 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  52,262.5|7 27 7 /L [k
86. 4 0 ~ 86. 5 0 3. 00 0. 00 1. 50

Koy REARERJLE T 3. 00 2.30 0. 00 1.00 100. 0 0.0 0.0 100.0|  52,362.5|7 27 7 /L [afidk
86. 5 0 ~ 86. 6 0 3. 00 0. 00 1. 50

Koy REARERJLE T 3. 00 1.50 0. 00 1.00 100. 0 0.0 0.0 100.0|  52,462.5|7 27 7 /L [afiLk
86. 6 0 ~ 86. 7 0 3. 00 0. 00 1. 50

Koy REATRERJLE T 3. 00 2. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  52,562.5|7 27 7 /L [afiLk
86. 7 0 ~ 86. 8 0 3. 00 0. 00 1.70

Koy REARERJLE T 3. 00 2. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  52,662.5|7 27 7 /L [afiLk
86. 8 0 ~ 86. 9 0 3. 00 0. 00 2. 00
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Koy REARERJLE AT 3. 00 2. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  52,762.5|7 27 7 /L [afidk
86. 9 0 ~ 87.0 0 3. 00 0. 00 1. 50

Koy REALRERJLE T 3. 00 2.25 0. 00 1.00 100. 0 0.0 0.0 100.0|  52,862.5|7 A7 7 /L [afiLk
87.0 0 ~ 87. 1 0 3. 00 0. 00 1. 50

Koy REARERJLERT 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  52,962.5|7 27 7 /L [afiLk
87. 1 0 ~ 87.2 0 3. 00 0. 00 1. 50

Koy REALRERJLE T 3. 00 1.00 0. 00 1.25 100. 0 0.0 0.0 100.0|  53,062.5|7 27 7 /L [afi%k
87.2 0 ~ 87.3 0 3. 00 0. 00 1. 50

Koy REALRERJLE T 3. 00 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0| 53, 162.5|7 27 7 /L i
87.3 0 ~ 87. 4 0 3. 00 0. 00 1. 50

Koy REARERJLE AT 3. 00 1.65 0. 00 1.00 100. 0 0.0 0.0 100.0|  53,262.5|7 27 7 /L [afidk
87. 4 0 ~ 87.5 0 3. 00 0. 00 1. 50

Koy REALRERJLE AT 3. 00 1.50 0. 00 0. 50 100. 0 0.0 0.0 100.0|  53,362.5|7 27 7 /L [k
87.5 0 ~ 87.6 0 3. 00 0. 00 1.25

Koy REALRERJLE T 3. 00 1.25 0. 00 1.00 100. 0 0.0 0.0 100.0|  53,462.5|7 27 7 /L [afiLk
87.6 0 ~ 87.7 0 3. 00 0. 00 1.75

Koy REARERJLE AT 3. 00 1.65 0. 00 1.00 100. 0 0.0 0.0 100.0|  53,562.5|7 27 7 /L [afiLk
87.7 0 ~ 87.8 0 3. 00 0. 00 1. 50

Koy REALRERJLE AT 3. 00 1.65 0. 00 1.25 114.0 0.0 0.0 114.0|  53,676.5|7 27 7 /L [
87.8 0 ~ 87.9 14 3. 00 0. 00 1.25

Koy REARERJLE T 3.25 1.50 0. 00 0.75 0.5 0.0 9.5 10.0[  53,686.5|7 27 7 /L ik
87.9 14 ~ 87.9 24 3.25 0. 00 0.75

Koy REARERJLE T 3.25 1.50 0. 00 1.00 76.0 0.0 0.0 76.0| 53,762.5|7 %7 7 /L %k
87.9 24 ~ 88. 0 0 3.25 0. 00 1. 00

Koy REATRERJLE T 3.25 1.25 0. 00 1.00 64. 5 0.0 9.5 74.0|  53,836.5|7 X 7 7 /L Nafi%kE
88. 0 0 ~ 88.0 84 3.25 0. 00 1.25

Koy REARERJLE T 3.25 1.50 0. 00 0.75 10. 0 0.0 0.0 10.0|  53,846.5|7 27 7 /L sk
88.0 84 ~ 88.0 94 3.25 0. 00 0.75
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Koy REARERJLE AT 3.25 1.25 0. 00 1.50 106. 0 0.0 0.0 106.0|  53,952.5|7 27 7 /L [k
88.0 94 ~ 88. 2 0 3.25 0. 00 1.25

Koy REALRERJLE T 3.25 2.25 0. 00 1.50 100. 0 0.0 0.0 100.0| 54, 052.5|7 27 7 /L [afi%k
88. 2 0 ~ 88. 3 0 3.25 0. 00 0.75

Koy REARERJLERT 3.25 1.25 0. 00 0.75 100. 0 0.0 0.0 100.0| 54, 152.5|7 2 7 7 /L [afi%k
88. 3 0 ~ 88. 4 0 3.25 0. 00 0.75

Koy REALRERJLE T 3.25 1.00 0. 00 0.75 100. 0 0.0 0.0 100.0|  54,252.5|7 27 7 /L [afidk
88. 4 0 ~ 88.5 0 3.25 0. 00 0.75

Koy REALRERJLE T 3.25 1.00 0. 00 0.75 100. 0 0.0 0.0 100.0|  54,352.5|7 27 7 /L Lk
88.5 0 ~ 88. 6 0 3.25 0. 00 0.75

Koy REARERJLE AT 3.25 1.00 0. 00 0. 50 123.0 0.0 0.0 123.0|  54,475.5|7 A 7 7 /L ik
88. 6 0 ~ 88. 7 0 3.25 2. 50 0.75

Koy REALRERJLE AT 3.25 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  54,575.5|7 2 7 7 /L ik
88. 7 0 ~ 88. 8 0 6. 25 2. 50 1. 00

Koy REALRERJLE T 3.25 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0| 54, 675.5|7 27 7 /L ik
88. 8 0 ~ 88. 9 0 6. 25 2. 50 1. 00

Koy REARERJLE AT 3.25 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0| 54, 775.5|7 A 7 7 /L ik
88.9 0 ~ 89. 0 0 6. 25 2. 50 1. 00

Koy REALRERJLE AT 3.25 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0| 54, 875.5|7 27 7 /L ik
89. 0 0 ~ 89. 1 0 6. 25 2. 50 1. 00

Koy REARERJLE T 3.25 1. 40 0. 00 1.00 100. 0 0.0 0.0 100.0|  54,975.5|7 A 7 7 /L [k
89. 1 0 ~ 89. 2 0 6. 25 2. 50 0. 50

Koy REARERJLE T 3.25 1.00 0. 00 1.00 100. 0 0.0 0.0 100.0|  55,075.5|7 2 7 7 /L [
89. 2 0 ~ 89. 3 0 6. 25 2. 50 1. 00

Koy REATRERJLE T 3.25 1.00 0. 00 1.00 85.0 0.0 0.0 85.0| 55,160.5|7 A7 7 /L [afiLk
89. 3 0 ~ 89.3 85 6. 25 2. 50 0. 50

Koy REARERJLE T 3.25 2. 00 0. 00 0.75 115.0 0.0 0.0 115.0|  55,275.5|7 2 7 7 /L [k
89.3 85 ~ 89. 5 0 3.25 2. 50 0.75
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Koy REARERJLE AT 3.25 2. 0. 00 100. 0 0. 100. 55,375. 5|7 2 7 7 L Il
89. 5 0 ~ 89. 0 3.25 2.

Koy WAl 3.25 L. 0. 00 105. 0. 105. 55,480. 5|7 2 7 7 /L I il
89. 6 0 ~ 89. 5 3.25 2.

Koy WAl 3.25 0. 0. 00 95. 0. 95. 55,575. 5|7 2 7 7 L Il
89. 7 5 ~ 89. 0 3.25 3.

Koy WAl 3.25 0. 0. 00 184. 180. 364. 55,939. 57 2 7 7 L Il
89. 8 0 ~ 90. 64 3.25 0.

Koy WAl 3.00 0. 0. 00 180. 0. 180. 56, 119.5|=z> 7 U — hEfidk
90. 1 64 ~ 90. 44 3. 00 0.

Koy WAl 3.50 0. 0. 00 562. 0. 562. 56,681. 5|7 2 7 7 /L I ifidk
90.3 44 ~ 90. 6 3. 50 0.

Koy WAl 6. 35 0. 0. 00 548. 0. 548. 57,229. 5|7 27 7 v Il
90. 9 6 ~ 91. 54 3.25 0.

Koy WAl 3.25 0. 0. 00 806. 0. 806. 58, 035. 5|7 2 7 7 /L I il
91.4 54 ~ 92. 60 3.25 0.

Koy WAl 6. 00 2. 0. 00 470. 0. 470. 58, 505. 5|7 2 7 7 /L I ifidk
92.2 60 ~ 92. 30 3. 00 0.

Koy WA 3.00 0. 0. 00 941. 0. 941. 59, 446. 5|7 2 7 7 )L I Eifidk
92.7 30 ~ 93. 71 3. 00 2.

Koy WAl 4.58 0. 0. 00 118. 0. 118. 59, 564. 5|7 2 7 7 L I Eifidk
93.6 71 ~ 93. 89 4. 58 3.

Koy WA 4.79 0. 0. 00 100. 0. 100. 59, 664. 5|7 2 7 7 /L I Eifidk
93.7 89 ~ 93. 189 4. 80 3.

Koy WAl 3. 94 0. 0. 00 100. 0. 100. 59, 764. 5|7 2 7 7 )L I Eifidk
93.7 189 ~ 93. 289 3.94 3.

Koy WA 3.00 0. 0. 00 100. 0. 100. 59, 864. 5|7 2 7 7 /L I Eifidk
93.7 289 ~ 93. 389 3. 00 2.
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Koy WAl 4.65 0. 0. 00 100. 0 0. 100. 62, 755. 5|7 A 7 7 /L [k
96. 5 0 96. 5. 00 0. 1.

Koy WAl 3.25 0. 0. 00 0. 50. 49. 100. 62, 855. 5|7 & 7 7 /L [afi%kE
96. 6 0 96. 3.24 2. 0.

Koy WAl 3.23 0. 0. 00 0. 100. 0. 100. 62, 955. 5|7 & 7 7 /L [afidkE
96. 7 0 96. 3.23 3. 0.

Koy WAl 3.01 0. 0. 00 1. 100. 0. 100. 63, 055. 5|7 & 7 7 /L [k
96. 8 0 96. 3. 00 2. 0.

Koy WAl 2.99 0. 0. 00 1. 100. 0. 100. 63, 155. 5|7 &2 7 7 /L [k
96. 9 0 97. 2.99 2. 0.

Koy WAl 3.05 0. 0. 00 0. 100. 0. 100. 63, 255. 5|7 A 7 7 /L [k
97. 0 0 97. 3.05 2. 0.

Koy WAl 3.05 0. 0. 00 1. 100. 0. 100. 63, 355. 5|7 A 7 7 /L [afidk
97. 1 0 97. 3. 04 2. 0.

Koy WAl 3.12 0. 0. 00 0. 100. 0. 100. 63, 455. 5|7 A 7 7 /L [afi%kE
97.2 0 97. 3.11 0.

Koy WAl 3.09 0. 0. 00 0. 100. 0. 100. 63, 555. 5| 7 A 7 7 /L [afidkE
97. 3 0 97. 3.08 2. 0.

Koy WA 3.09 0. 0. 00 0. 100. 0. 100. 63, 655. 5|7 & 7 7 /L [afidkE
97. 4 0 97. 3.08 2. 0.

Koy WAl 3.83 0. 0. 00 1. 100. 0. 100. 63, 755. 5|7 A 7 7 /L [k
97.5 0 97. 3.10 2. 0.

Koy WA 3.01 0. 0. 00 1. 100. 0. 100. 63, 855. 5|7 & 7 7 /L [fidkE
97. 6 0 97. 3.01 2. 0.

Koy WAl 3.09 0. 0. 00 0. 100. 0. 100. 63, 955. 5|7 & 7 7 /L [k
97.7 0 97. 3.08 0.

Koy WA 3.56 0. 00 0. 100. 0. 100. 64, 055. 5|7 & 7 7 /L [k
97.8 0 97. 3. 70 0.
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Koy WAl 3. 06 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0| 64, 155.5|7 2 7 7 /L [
97.9 0 ~ 98. 0 0 3. 06 2. 09 0.53

Koy WAl 3. 94 0. 00 0. 00 0.77 100. 0 0.0 0.0 100.0| 64, 255.5|7 27 7 /L [afidk
98.0 0 ~ 98. 1 0 3. 50 2. 10 0.51

Koy WAl 3. 06 0. 00 0. 00 0.84 100. 0 0.0 0.0 100.0|  64,355.5|7 27 7 /L [k
98. 1 0 ~ 98. 2 0 3.05 2.22 0.51

Koy WAl 3. 06 0. 00 0. 00 0.92 100. 0 0.0 0.0 100.0|  64,455.5|7 2 7 7 /L [afiLk
98. 2 0 ~ 98. 3 0 3.05 1. 56 0. 48

Koy WAl 3. 40 0. 00 0. 00 1.31 100. 0 0.0 0.0 100.0|  64,555.5|7 27 7 /L [afidk
98. 3 0 ~ 98. 4 0 3.39 2.13 0.51

Koy WAl 3.21 0. 00 0. 00 1.41 100. 0 0.0 0.0 100.0| 64, 655.5|7 27 7 /L [afidk
98. 4 0 ~ 98.5 0 3.20 2.20 0. 66

Koy WAl 3.22 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0| 64, 755.5|7 2 7 7 /L [k
98.5 0 ~ 98. 6 0 3.22 1. 54 0. 67

Koy WAl 2.97 0. 00 0. 00 1.19 100. 0 0.0 0.0 100.0|  64,855.5|7 27 7 /L [k
98. 6 0 ~ 98. 7 0 2.97 2.27 0. 64

Koy WAl 3.57 0. 00 0. 00 0. 65 100. 0 0.0 0.0 100.0| 64, 955.5|7 2 7 7 /L [k
98. 7 0 ~ 98. 8 0 3.57 2.22 0.71

Koy WA 3.03 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0| 65, 055.5|7 2 7 7 /L [afidk
98. 8 0 ~ 98. 9 0 3.03 2.06 0. 48

Koy WAl 3. 06 0. 00 0. 00 0. 90 100. 0 0.0 0.0 100.0| 65, 155.5|7 2 7 7 /L ik
98. 9 0 ~ 99. 0 0 3. 06 2. 17 0. 48

Koy WA 3.02 0. 00 0. 00 1.01 100. 0 0.0 0.0 100.0|  65,255.5|7 2 7 7 /L [k
99. 0 0 ~ 99. 1 0 3.02 2.13 2.13

Koy WAl 3.03 0. 00 0. 00 1.04 100. 0 0.0 0.0 100.0|  65,355.5|7 27 7 /L [k
99. 1 0 ~ 99. 2 0 3. 02 2. 07 0.53

Koy WA 3.12 0. 00 0. 00 1.02 100. 0 0.0 0.0 100.0|  65,455.5|7 2 7 7 /L [afidk
99. 2 0 ~ 99. 3 0 3.11 2.07 0. 70
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Koy WAl 3.02 0. 0. 00 1. 100. 0 0. 100. 65, 555. 5| 7 A 7 7 /L [afidkE
99. 3 0 99, 3. 02 2. 0.
Koy WAl 3.15 0. 0. 00 1. 87. 13. 101. 65, 656. 5|7 & 7 7 /L %
99. 4 0 99. 3.15 2. 0.
Koy WAl 3.25 0. 0. 00 1. 100. 0. 100. 65, 756. 5|7 A 7 7 /L [k
99. 5 0 99. 3.25 2. 0.
Koy WAl 3.10 0. 0. 00 1. 100. 0. 100. 65, 856. 5|7 & 7 7 /L [fidkE
99. 6 0 99, 3. 10 2. 0.
Koy WAl 3.10 0. 0. 00 1. 100. 0. 100. 65, 956. 5|7 & 7 7 /L [afidE
99. 7 0 99, 3.10 3. 0.
Koy WAl 3.05 0. 0. 00 1. 100. 0. 100. 66, 056. 5|7 % 7 7 /L [fi%k
99. 8 0 99. 3.05 2. 0.
Koy WAl 3.05 0. 0. 00 0. 150. 0. 150. 66, 206. 5|7 & 7 7 /L [afi%E
99. 9 0 100. 3.05 2. 0.
Koy WAl 3.10 0. 0. 00 1. 100. 0. 100. 66, 306. 5|7 & 7 7 /L [afi%E
100. 0 0 100. 3. 10 3. 0.
Koy WAl 3.10 0. 0. 00 1. 100. 0. 100. 66, 406. 5|7 & 7 7 /L %
100. 1 0 100. 3.10 2. 0.
Koy WAl 3.05 0. 0. 00 1. 100. 0. 100. 66, 506. 5|7 & 7 7 /L %
100. 2 0 100. 3.05 2. 0.
Koy WAl 3. 70 0. 0. 00 0. 100. 0. 100. 66, 606. 5|7 % 7 7 /L %
100. 3 0 100. 3.30 2. 0.
Koy WAl 3.15 0. 0. 00 1. 100. 0. 100. 66, 706. 5|7 % 7 7 /L [afi%E
100. 4 0 100. 3.15 2. 0.
Koy WA 3.40 0. 0. 00 1. 100. 0. 100. 66, 806. 5|7 & 7 7 /L %
100. 5 0 100. 3. 20 2. 0.
Koy WAl 3.15 0. 0. 00 1. 100. 0. 100. 66, 906. 5|7 % 7 7 /L [fidkE
100. 6 0 100. 3.05 3. 0.




It

K
R4 0 0210 B5E
g =
X (B B0, TETYAD m JEINGE & 1 O FEFA
HOGH | B B | BN SRS
m

Koy WAl 3.50 0. 00 1. 100. 0 100. 67,006. 5|7 & 7 7 /L [afidk
100. 7 0 100. 3.30 2. 04 0.

Koy WAl 3.80 0. 00 0. 00 1. 100. 100. 67,106. 5|7 % 7 7 /L [k
100. 8 0 100. 3. 60 1.76 0.

Koy WAl 3.10 0. 00 0. 00 0. 100. 100. 67,206. 5|7 & 7 7 /L [afi%kE
100. 9 0 101. 3. 10 1.76 0.

Koy WAl 3.10 0. 00 0. 00 0. 100. 100. 67,306. 5|7 A 7 7 /L [afidk
101. 0 0 101. 3. 10 2.22 0.

Koy WAl 3.10 0. 00 0. 00 1. 100. 100. 67, 406. 5|7 A 7 7 /L [afi%kE
101. 1 0 101. 3.10 2.12 0.

Koy WAl 3.10 0. 00 0. 00 0. 100. 100. 67,506. 5|7 & 7 7 /L [afi%E
101. 2 0 101. 3.10 2.01 0.

Koy WAl 3. 40 0. 00 0. 00 1. 100. 100. 67,606. 5|7 & 7 7 /L [afi%E
101. 3 0 101. 3. 60 2.19 0.

Koy WAl 3.30 0. 00 0. 00 1. 100. 100. 67, 706. 5|7 & 7 7 /L [afidk
101. 4 0 101. 3.10 4.12 0.

Koy WAl 3.00 0. 00 0. 00 1. 100. 100. 67,806. 5|7 & 7 7 /L [afidk
101.5 0 101. 3. 20 4. 08 0.

Koy WA 3.00 0. 00 0. 00 1. 100. 100. 67,906. 5|7 & 7 7 /L [afidk
101. 6 0 101. 3. 00 2. 14 0.

Koy WAl 3.00 0. 00 0. 00 3. 100. 100. 68, 006. 5|7 % 7 7 /L [k
101. 7 0 101. 3. 00 2.16 0.

Koy WA 3.00 0. 00 0. 00 1. 100. 100. 68, 106. 5|7 % 7 7 /L [k
101. 8 0 101. 3. 00 2. 30 0.

Koy WAl 3.00 0. 00 0. 00 1. 100. 100. 68, 206. 5|7 & 7 7 /L [afi%E
101. 9 0 102. 3. 00 2.37 0.

Koy WA 3.00 0. 00 0. 00 1. 100. 100. 68, 306. 5|7 A 7 7 /L [fidk
102. 0 0 102. 3. 00 2. 46 0.




It

HoF -
R4 0 0210 B5E
g =
X (B B0, TETYAD m JEINGE & 1 O FEFA
HOGH | B B | BN SRS i
m

Koy WAl 3.00 0. 0. 00 1. 100. 0 0. 100. 68, 406. 5|7 A 7 7 /L [afidk
102. 1 0 102. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 0. 100. 68, 506. 5|7 & 7 7 /L %k
102. 2 0 102. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 0. 100. 68, 606. 5|7 % 7 7 /L %
102. 3 0 102. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 0. 100. 68, 706. 5|7 A 7 7 /L [k
102. 4 0 102. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 0. 100. 68, 806. 5|7 & 7 7 /L [fi%k
102. 5 0 102. 3. 00 4. 0.

Koy WAl 3.00 0. 0. 00 0. 100. 0. 100. 68, 906. 5|7 & 7 7 /L [fidk
102. 6 0 102. 3. 00 4. 0.

Koy WAl 3.00 0. 0. 00 0. 100. 0. 100. 69, 006. 5|7 % 7 7 /L [fi%k
102. 7 0 102. 3. 00 5. 0.

Koy WAl 3. 00 0. 0. 00 1. 100. 0. 100. 69, 106. 5|7 % 7 7 /L [k
102. 8 0 102. 3. 00 9. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 0. 100. 69, 206. 5|7 & 7 7 /L [afidkE
102. 9 0 103. 3. 00 2. 0.

Koy WA 3.00 0. 0. 00 1. 70. 30. 100. 69, 306. 5|7 & 7 7 /L [afidkE
103. 0 0 103. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 0. 13. 87. 100. 69, 406. 5|7 A 7 7 /L [k
103. 1 0 103. 3. 00 1. 0.

Koy WA 3.00 0. 0. 00 1. 100. 0. 100. 69, 506. 5|7 A 7 7 /L %k
103. 2 0 103. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 0. 100. 69, 606. 5|7 % 7 7 /L [afi%E
103. 3 0 103. 3. 00 2. 0.

Koy WA 4.00 0. 0. 00 0. 100. 0. 100. 69, 706. 5|7 % 7 7 /L [k
103. 4 0 103. 4. 00 3. 0.




It

GHmES -
R4 0 0210 B5E
g =
X (B B0, TETYAD m JEINGE & 1 O FEFA
HOGH | B B | BN SRS i
m

Koy WAl 3.00 0. 00 0. 00 1. 100. 0 0. 100. 69, 806. 5|7 & 7 7 /L [afi%k
103. 5 0 103. 3. 00 2. 00 0.

Koy WAl 3.00 0. 00 0. 00 1. 100. 0. 100. 69, 906. 5|7 & 7 7 /L [afi%E
103. 6 0 103. 3. 00 2.11 0.

Koy WAl 3.00 0. 00 0. 00 1. 100. 0. 100. 70, 006. 5|7 2 7 7 /L Il
103. 7 0 103. 3. 00 2. 00 0.

Koy WAl 3.00 0. 00 0. 00 0. 97. 3. 100. 70, 106. 5|7 2 7 7 /L I il
103. 8 0 103. 3. 00 1.97 0.

Koy WAl 3.00 0. 00 0. 00 1. 38. 62. 100. 70, 206. 5|7 2 7 7 L Il
103. 9 0 104. 3. 00 2.23 0.

Koy WAl 3.00 0. 00 0. 00 2. 100. 0. 100. 70, 306. 5|7 2 7 7 L Il
104. 0 0 104. 3. 00 3. 00 0.

Koy WAl 3.00 0. 00 0. 00 0. 100. 0. 100. 70, 406. 5|7 2 7 7 L 1l
104. 1 0 104. 3. 00 2.07 0.

Koy WAl 3. 00 0. 00 0. 00 1. 100. 0. 100. 70, 506. 5|7 2 7 7 L Il
104. 2 0 104. 3. 00 2. 07 0.

Koy WAl 3.00 0. 00 0. 00 1. 100. 0. 100. 70, 606. 5|7 2 7 7 L Il
104. 3 0 104. 3. 00 1. 80 0.

Koy WA 3.00 0. 00 0. 00 0. 100. 0. 100. 70, 706. 5|7 2 7 7 L 1l
104. 4 0 104. 3. 00 2.01 0.

Koy WAl 3.00 0. 00 0. 00 0. 100. 0. 100. 70, 806. 5|7 2 7 7 /L I ifidk
104. 5 0 104. 3. 00 1.98 0.

Koy WA 3.00 0. 00 0. 00 1. 100. 0. 100. 70,906. 5|7 2 7 7 /L Il
104. 6 0 104. 3. 00 2.11 0.

Koy WAl 3.00 0. 00 0. 00 1. 100. 0. 100. 71,006. 5|7 2 7 7 /L Il
104. 7 0 104. 3. 00 1.92 0.

Koy WA 3.00 0. 00 0. 00 1. 100. 0. 100. 71,106. 5|7 2 7 7 /L Il
104. 8 0 104. 3. 00 2.03 0.




It

K
R4 0 0210 B5E
)
X (B B0, TETYAD m JEINGE & 1 O FEFA
HOE vax: itd SRS
m

Koy WAl 3.00 0. 0. 00 0. 100. 0 100. 71, 206. 5|7 2 7 7 v Il
104. 9 0 105. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 0. 100. 100. 71, 306. 5|7 2 7 7 v Il
105. 0 0 105. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 0. 100. 100. 71, 406. 5|7 2 7 7 /L I Efidk
105. 1 0 105. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 0. 100. 100. 71,506. 5|7 2 7 7 /L Il
105. 2 0 105. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 100. 71,606. 5|7 2 7 7 /L I Efidk
105. 3 0 105. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 100. 71,706. 5|7 2 7 7 /L Il
105. 4 0 105. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 100. 71,806. 5|7 2 7 7 /L I ifidk
105. 5 0 105. 3. 00 2. 0.

Koy WAl 3. 00 0. 0. 00 1. 100. 100. 71,906. 5|7 2 7 7 /L I il
105. 6 0 105. 3. 00 0.

Koy WAl 3.00 0. 0. 00 1. 100. 100. 72,006. 5|7 2 7 7 L Il
105. 7 0 105. 3. 00 2. 0.

Koy WA 3.00 0. 0. 00 1. 100. 100. 72,106. 5|7 2 7 7 v 1l
105. 8 0 105. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 100. 72,206. 5|7 2 7 7 v 1l
105. 9 0 106. 3. 00 0.

Koy WA 3.00 0. 0. 00 0. 100. 100. 72,306. 5|7 2 7 7 v 1l
106. 0 0 106. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 100. 72,406. 5|7 2 7 7 v 1l
106. 1 0 106. 3. 00 2. 0.

Koy WA 3.00 0. 0. 00 0. 100. 100. 72,506. 5|7 2 7 7 v Il
106. 2 0 106. 3. 00 2. 0.




It

HoF -
R4 0 0210 B5E
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HOE vax: itd A | E K i
m

Koy WAl 3.00 0. 0. 00 1. 100. 0 0. 100. 72,606. 5|7 2 7 7L Il
106. 3 0 106. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 0. 100. 72,706. 5|7 2 7 7 v Il
106. 4 0 106. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 0. 100. 72,806. 5|7 2 7 7L Il
106. 5 0 106. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 0. 100. 72,906. 5|7 2 7 7 v Il
106. 6 0 106. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 100. 0. 100. 73,006. 5|7 2 7 7 /L Il
106. 7 0 106. 3. 00 2. 0.

Koy WAl 3.00 0. 0. 00 1. 56. 43, 100. 73,106. 5|7 2 7 7 /L Il
106. 8 0 106. 3. 00 2. 0.

Koy WAl 3.00 2. 0. 00 0. 100. 0. 100. 73,206. 5|7 2 7 7 L 1l
106. 9 0 107. 3. 00 0.

Koy WAl 3. 00 2. 0. 00 100. 0. 100. 73,306. 5|7 2 7 7L 1l
107. 0 0 107. 3. 00 0.

Koy WAl 3.00 2. 0. 00 100. 0. 100. 73,406. 5|7 2 7 7 L 1l
107. 1 0 107. 3. 00 0.

Koy WA 3.00 2. 0. 00 100. 0. 100. 73,506. 5|7 2 7 7 L Il
107. 2 0 107. 3. 00 0.

Koy WAl 3.00 2. 0. 00 100. 0. 100. 73,606. 5|7 2 7 7 L 1l
107. 3 0 107. 3. 00 0.

Koy WA 3.00 2. 0. 00 100. 0. 100. 73,706. 5|7 2 7 7 L 1l
107. 4 0 107. 3. 00 0.

Koy WAl 3.00 2. 0. 00 100. 0. 100. 73,806. 5|7 2 7 7 L Il
107.5 0 107. 3. 00 0.

Koy WA 3.00 1. 0. 00 100. 0. 100. 73,906. 5|7 2 7 7 L Il
107. 6 0 107. 3. 00 0.




I

%ok -
BHRL 0210 i
g =
X (B B0, TETYAD m JEINGE & 1 O FEFA
HOGH | B B | BN SRS i
m

Koy WAl 3.00 2.19 0. 00 100. 0 0. 100. 74,006. 5|7 2 7 7 L I Efidk
107. 7 0 107. 3. 00 0. 00

Koy WAl 3.00 2. 00 0. 00 100. 0. 100. 74,106. 5|7 2 7 7 /L Il
107. 8 0 107. 3. 00 0. 00

Koy WAl 3.00 2. 00 0. 00 100. 0. 100. 74,206. 5|7 2 7 7L Il
107. 9 0 108. 3. 00 0. 00

Koy WAl 3.00 2.20 0. 00 100. 0. 100. 74,306. 5|7 2 7 7 L Il
108. 0 0 108. 3. 00 0. 00

Koy WAl 3.00 1.85 0. 00 100. 0. 100. 74,406. 5|7 2 7 7 L 1 Efidk
108. 1 0 108. 3. 00 0. 00

Koy WAl 3.00 2.01 0. 00 100. 0. 100. 74,506. 5|7 2 7 7 L 1l
108. 2 0 108. 3. 00 0. 00

Koy WAl 3.00 3.09 0. 00 5. 95. 100. 74,606. 5|7 2 7 7 L Il
108. 3 0 108. 3. 00 0. 00

Koy WAl 3. 00 1.98 0. 00 100. 0. 100. 74,706. 5|7 2 7 7 /L Il
108. 4 0 108. 3. 00 0. 00

Koy WAl 3.00 2.10 0. 00 100. 0. 100. 74,806. 5|7 2 7 7 /L Il
108. 5 0 108. 3. 00 0. 00

Koy WA 3.00 1.98 0. 00 100. 0. 100. 74,906. 5|7 2 7 7 L Il
108. 6 0 108. 3. 00 0. 00

Koy WAl 3.00 2.07 0. 00 100. 0. 100. 75,006. 5|7 2 7 7 L 1l
108. 7 0 108. 3. 00 0. 00

Koy WA 3.00 3.97 0. 00 100. 0. 100. 75,106. 5|7 2 7 7 L Il
108. 8 0 108. 3. 00 0. 00

Koy WAl 3.00 2.42 0. 00 100. 0. 100. 75,206. 5|7 2 7 7 v 1l
108. 9 0 109. 3. 00 0. 00

Koy WA 3.00 2.08 0. 00 100. 0. 100. 75,306. 5|7 2 7 7 v Il
109. 0 0 109. 3. 00 0. 00




I

%ok -
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HOGH | B B | BN SRS i
m

Koy WAl 3.00 2.07 0. 00 100. 0 0. 100. 75, 406. 5|7 2 7 7 L Il
109. 1 0 109. 3. 00 0. 00

Koy WAl 3.00 2.12 0. 00 100. 0. 100. 75,506. 5|7 2 7 7 v Il
109. 2 0 109. 3. 00 0. 00

Koy WAl 3.00 2.03 0. 00 100. 0. 100. 75,606. 5|7 2 7 7 L Il
109. 3 0 109. 3. 00 0. 00

Koy WAl 3.00 3.05 0. 00 100. 0. 100. 75,706. 5|7 2 7 7 L 1l
109. 4 0 109. 3. 00 0. 00

Koy WAl 3.00 2.48 0. 00 100. 0. 100. 75,806. 5|7 2 7 7 L Il
109. 5 0 109. 3. 00 0. 00

Koy WAl 3.00 2.15 0. 00 74. 26. 100. 75,906. 5|7 2 7 7 L Il
109. 6 0 109. 3. 00 0. 00

Koy WAl 3.00 2.17 0. 00 100. 0. 100. 76, 006. 5|7 2 7 7 /L Il
109. 7 0 109. 3. 00 0. 00

Koy WAl 3. 00 2.15 0. 00 100. 0. 100. 76,106. 5|7 2 7 7 /L Il
109. 8 0 109. 3. 00 0. 00

Koy WAl 3.00 2.01 0. 00 100. 0. 100. 76, 206. 5|7 2 7 7 L 1l
109. 9 0 110. 3. 00 0. 00

Koy WA 3.00 2.11 0. 00 100. 0. 100. 76,306. 5|7 2 7 7 L Il
110. 0 0 110. 3. 00 0. 00

Koy WAl 3.00 2.05 0. 00 100. 0. 100. 76, 406. 5|7 2 7 7 L 1l
110. 1 0 110. 3. 00 0. 00

Koy WA 3.00 1.98 0. 00 92. 7. 100. 76,506. 5|7 2 7 7 L I Efidk
110. 2 0 110. 3. 00 0. 00

Koy WAl 3.00 2.02 0. 00 100. 0. 100. 76, 606. 5|7 2 7 7 L I Efidk
110. 3 0 110. 3. 00 0. 00

Koy WA 3.00 3.03 0. 00 100. 0. 100. 76,706. 5|7 2 7 7 L Il
110. 4 0 110. 6. 00 0. 00




I

%ok -
BHRL 0210 i
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X (B B0, TETYAD m JEINGE & 1 O FEFA
HOGH | B B | BN SRS i
m

Koy WAl 6. 00 2.98 0. 00 100. 0 0. 100. 76,806. 5|7 2 7 7 L I Efidk
110.5 0 110. 3. 00 0. 00

Koy WAl 3.00 2.62 0. 00 17. 82. 100. 76,906. 5|7 2 7 7 L Il
110. 6 0 110. 3. 00 0. 00

Koy WAl 3.00 2.27 0. 00 100. 0. 100. 77,006. 5|7 2 7 7 L 1l
110. 7 0 110. 3. 00 0. 00

Koy WAl 3.00 2.00 0. 00 100. 0. 100. 77,106. 5|7 2 7 7 v 1l
110. 8 0 110. 3. 00 0. 00

Koy WAl 3.25 2.14 0. 00 100. 0. 100. 77,206. 5|7 2 7 7 v Il
110. 9 0 111. 3.25 0. 00

Koy WAl 3.00 1.99 0. 00 100. 0. 100. 77,306. 5|7 2 7 7 L 1l
111.0 0 111. 3. 00 0. 00

Koy WAl 3.00 2.02 0. 00 100. 0. 100. 77,406. 5|7 2 7 7 L 1l
111.1 0 111. 6. 00 0. 00

Koy WAl 3. 00 2.12 0. 00 100. 0. 100. 77,506. 5|7 2 7 7 L 1l
111.2 0 111. 6. 00 0. 00

Koy WAl 3.00 2.14 0. 00 100. 0. 100. 77,606. 5|7 2 7 7 L Il
111.3 0 111. 6. 00 0. 00

Koy WA 3.00 1.67 0. 00 100. 0. 100. 77,706. 5|7 2 7 7 L 1l
111.4 0 111. 3. 00 2. 00

Koy WAl 3.00 2.15 0. 00 100. 0. 100. 77,806. 5|7 2 7 7 L Il
111.5 0 111. 3. 00 3. 00

Koy WA 3.00 2.09 0. 00 100. 0. 100. 77,906. 5|7 2 7 7 v 1l
111.6 0 111. 3. 00 3. 00

Koy WAl 3.00 2.02 0. 00 100. 0. 100. 78,006. 5|7 2 7 7 v Il
111.7 0 111. 3. 00 0. 00

Koy WA 3.00 1.92 0. 00 100. 0. 100. 78,106. 5|7 2 7 7 /L Il
111.8 0 111. 3. 00 0. 00




It

HoF -
R4 0 0210 B5E
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Koy WAl 3.50 2. 0. 00 100. 0 0. 100. 78, 206. 5|7 2 7 7 L Il
111.9 0 112. 3. 50 0.

Koy WAl 3.00 4. 0. 00 0. 100. 0. 100. 78,306. 5|7 2 7 7 L Il
112.0 0 112. 3. 00 0. 2.

Koy WAl 3.00 5. 0. 00 0. 100. 0. 100. 78, 406. 5|7 2 7 7 L Il
112. 1 0 112. 3. 00 0. 3.

Koy WAl 3.00 2. 0. 00 0. 100. 0. 100. 78,506. 5|7 2 7 7 L I Efidk
112. 2 0 112. 3. 00 0.

Koy WAl 3.00 2. 0. 00 0. 100. 0. 100. 78,606. 5|7 2 7 7 L I Efidk
112. 3 0 112. 3. 00 0. 4.

Koy WAl 3.00 2. 0. 00 0. 100. 0. 100. 78,706. 5|7 2 7 7 L Il
112. 4 0 112. 3. 00 0. 3.

Koy WAl 3.00 1. 0. 00 0. 100. 0. 100. 78,806. 5|7 2 7 7 L Il
112.5 0 112. 3. 00 0.

Koy WAl 3. 00 3. 0. 00 100. 0. 100. 78,906. 5|7 2 7 7 L I Efidk
112. 6 0 112. 3. 00 0.

Koy WAl 3.00 1. 0. 00 100. 0. 100. 79, 006. 5|7 2 7 7 /L I Eifidk
112.7 0 112. 3. 00 0.

Koy WA 3.00 2. 0. 00 100. 0. 100. 79,106. 5|7 2 7 7 /L Il
112.8 0 112. 3. 00 0.

Koy WAl 3.00 2. 0. 00 100. 0. 100. 79, 206. 5|7 2 7 7 L I Efidk
112.9 0 113. 3. 00 0.

Koy WA 3.00 1. 0. 00 0. 7. 93. 100. 79, 306. 5|7 2 7 7 L Il
113.0 0 113. 3. 00 1. 0.

Koy WAl 3.00 1. 0. 00 0. 26. 74. 100. 79, 406. 5|7 2 7 7 L Il
113.1 0 113. 3. 00 1. 0.

Koy WA 3.00 2. 0. 00 0. 100. 0. 100. 79,506. 5|7 2 7 7 L Il
113.2 0 113. 3. 00 2. 0.




It
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Koy WAl 3.00 2.03 0. 00 0. 100. 0 100. 79, 606. 5|7 2 7 7 L I Efidk
113.3 0 113. 3. 00 2.08 0.

Koy WAl 3.00 2. 00 0. 00 0. 100. 100. 79,706. 5|7 2 7 7 L I Efidk
113. 4 0 113. 3. 00 2. 00 0.

Koy WAl 3.00 2. 00 0. 00 0. 100. 100. 79, 806. 5|7 2 7 7 L Il
113.5 0 113. 3. 00 2. 00 0.

Koy WAl 3.00 2.03 0. 00 0. 100. 100. 79,906. 5|7 2 7 7 L I Efidk
113.6 0 113. 3. 00 3. 62 0.

Koy WAl 3.00 1.95 0. 00 0. 100. 100. 80, 006. 5|7 % 7 7 /L [k
113.7 0 113. 3. 00 2.71 0.

Koy WAl 3.00 2. 00 0. 00 0. 100. 100. 80, 106. 5|7 & 7 7 /L ik
113.8 0 113. 3. 00 2. 00 0.

Koy WAl 3.00 2. 00 0. 00 0. 100. 100. 80, 206. 5|7 A 7 7 /L [fi%k
113.9 0 114. 3. 00 2. 00 0.

Koy WAl 6. 00 3. 00 0. 00 0. 100. 100. 80, 306. 5|7 & 7 7 /L [fi%k
114. 0 0 114. 3. 00 4. 00 0.

Koy WAl 3.00 2. 00 0. 00 0. 100. 100. 80, 406. 5|7 A 7 7 /L ik
114. 1 0 114. 3. 00 3. 00 0.

Koy WA 3.00 2.66 0. 00 0. 100. 100. 80, 506. 5|7 A 7 7 /L [k
114. 2 0 114. 3. 00 2.08 0.

Koy WAl 3.00 2. 00 0. 00 0. 100. 100. 80, 606. 5|7 % 7 7 /L ik
114. 3 0 114. 3. 00 2.08 0.

Koy WA 3.00 2. 00 0. 00 0. 100. 100. 80, 706. 5|7 A 7 7 /L ik
114. 4 0 114. 3. 00 2.01 0.

Koy WAl 3.00 5.11 0. 00 0. 100. 100. 80, 806. 5|7 & 7 7 /L %k
114.5 0 114. 3. 00 2.01 0.

Koy WA 3.00 3.01 0. 00 0. 100. 100. 80, 906. 5|7 % 7 7 /L [k
114. 6 0 114. 3. 00 2. 04 0.
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Koy WAl 3.00 1.95 0. 00 0. 100. 0 0. 0. 100. 81, 006. 5|7 % 7 7 /L ik
114. 7 0 114. 3. 00 2.13 0.

Koy WAl 3.00 2.09 0. 00 0. 100. 0. 0. 100. 81, 106. 5|7 % 7 7 /L [k
114. 8 0 114. 3. 00 4. 04 0.

Koy WAl 3.00 2.20 0. 00 0. 100. 0. 0. 100. 81, 206. 5|7 A 7 7 /L [fi%k
114. 9 0 115. 3. 00 4.71 0.

Koy WAl 3.00 2.00 0. 00 0. 56. 0. 44, 100. 81, 306. 5|7 A 7 7 /L [fi%k
115.0 0 115. 6. 00 2.26 0.

Koy WAl 4.00 2.04 0. 00 0. 62. 38. 0. 100. 81, 406. 5|7 A 7 7 /L [fi%k
115. 1 0 115. 4. 00 2.23 0.

Koy WAl 3.00 2.70 0. 00 0. 72. 28. 0. 100. 81, 506. 5|7 A 7 7 /L %k
115. 2 0 115. 3. 00 0.92 0.

Koy WAl 3.00 2.53 0. 100. 0. 0. 100. 81, 606. 5|7 & 7 7 /L %k
115. 3 0 115. 3. 00 0. 00 0.

Koy WAl 3. 00 2.50 0. 00 0. 100. 0. 0. 100. 81, 706. 5|7 A 7 7 /L [k
115. 4 0 115. 3. 00 0. 00 0.

Koy WAl 3.00 2.15 0. 00 0. 100. 0. 0. 100. 81, 806. 5|7 & 7 7 /L [k
115.5 0 115. 3. 00 0. 00

Koy WA 3.00 4.45 0. 00 100. 0. 0. 100. 81,906. 5|7 % 7 7 /L [afi%k
115. 6 0 115. 3. 00 0. 00

Koy WAl 3.00 3.20 0. 00 100. 0. 0. 100. 82, 006. 5|7 & 7 7 /L [k
115. 7 0 115. 3. 00 0. 00

Koy WA 3.00 3.15 0. 00 100. 0. 0. 100. 82, 106. 5|7 % 7 7 /L ik
115. 8 0 115. 3. 00 0. 00

Koy WAl 3.50 2.95 0. 00 100. 0. 0. 100. 82, 206. 5|7 A 7 7 /L [fi%k
115.9 0 116. 3. 50 0. 00

Koy WA 3.00 2.10 0. 00 67. 0. 32. 100. 82, 306. 5|7 A 7 7 /L [k
116. 0 0 116. 3. 00 0. 00
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Koy WAl 3.00 1. 0. 00 100. 0 0. 100. 82, 406. 5|7 A 7 7 /L [fidk
116. 1 0 116. 3. 00 0.

Koy WAl 3.00 L. 0. 00 100. 0. 100. 82,506. 5|7 & 7 7 /L %k
116. 2 0 116. 3. 00 0.

Koy WAl 3.00 2. 0. 00 100. 0. 100. 82, 606. 5|7 & 7 7 /L %k
116. 3 0 116. 3. 00 0.

Koy WAl 3.00 2. 0. 00 100. 0. 100. 82, 706. 5|7 A 7 7 /L ik
116. 4 0 116. 3. 00 0.

Koy WAl 3.00 2. 0. 00 100. 0. 100. 82,806. 5|7 & 7 7 /L [fi%k
116.5 0 116. 3. 00 0.

Koy WAl 3.00 2. 0. 00 87. 12. 100. 82,906. 5|7 & 7 7 /L [fi%k
116. 6 0 116. 3. 00 0.

Koy WAl 3.00 2. 0. 00 100. 0. 100. 83, 006. 5|7 & 7 7 /L [fidk
116. 7 0 116. 3. 00 0.

Koy WAl 3. 00 2. 0. 00 100. 0. 100. 83, 106. 5|7 & 7 7 /L [k
116. 8 0 116. 3. 00 0.

Koy WAl 3.00 1. 0. 00 100. 0. 100. 83, 206. 5|7 A 7 7 /L [k
116.9 0 117. 3. 00 0.

Koy WA 3.00 2. 0. 00 100. 0. 100. 83, 306. 5|7 & 7 7 /L [k
117.0 0 117. 3. 00 0.

Koy WAl 3.00 2. 0. 00 100. 0. 100. 83, 406. 5|7 A 7 7 /L [fidk
117. 1 0 117. 3. 00 0.

Koy WA 3.00 2. 0. 00 100. 0. 100. 83, 506. 5|7 & 7 7 /L [fi%kE
117. 2 0 117. 3. 00 0.

Koy WAl 3.00 2. 0. 00 100. 0. 100. 83, 606. 5|7 % 7 7 /L %k
117.3 0 117. 3. 00 0.

Koy WA 3.00 2. 0. 00 100. 0. 100. 83, 706. 5|7 A 7 7 /L [k
117. 4 0 117. 3. 00 0.
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Koy WAl 3.00 3.05 0. 00 100. 0 0. 100. 83,806. 5|7 & 7 7 /L [afi%k
117.5 0 117. 3. 00 2. 50

Koy WAl 3.00 2.55 0. 00 100. 0. 100. 83,906. 5|7 & 7 7 /L [afi%k
117.6 0 117. 3. 00 2. 50

Koy WAl 3.00 2.55 0. 00 100. 0. 100. 84, 006. 5|7 % 7 7 /L %k
117.7 0 117. 3. 00 3.10

Koy WAl 2.85 1.85 0. 00 100. 0. 100. 84, 106. 5|7 A 7 7 /L ik
117.8 0 117. 2.85 2.45

Koy WAl 3.00 2.14 0. 00 100. 0. 100. 84, 206. 5|7 A 7 7 /L [fi%kE
117.9 0 118. 3. 00 0. 00

Koy WAl 3.00 2.50 0. 00 71. 29. 100. 84, 306. 5|7 A 7 7 /L [afidk
118.0 0 118. 3. 00 0. 00

Koy WAl 2.85 2.51 100. 0. 100. 84, 406. 5|7 A 7 7 /L [fi%kE
118. 1 0 118. 2.85 0. 00

Koy WAl 2.85 2.22 0. 00 100. 0. 100. 84, 506. 5|7 A 7 7 /L [fi%k
118. 2 0 118. 2.85 0. 00

Koy WAl 2.85 2.32 0. 00 100. 0. 100. 84, 606. 5|7 & 7 7 /L %k
118. 3 0 118. 2.85 0. 00

Koy WA 2.85 2.28 0. 00 100. 0. 100. 84, 706. 5|7 A 7 7 /L ik
118. 4 0 118. 2.85 0. 00

Koy WAl 2.85 2.48 0. 00 100. 0. 100. 84, 806. 5|7 A 7 7 /L %k
118.5 0 118. 2.85 0. 00

Koy WA 3.00 1.50 0. 00 100. 0. 100. 84,906. 5|7 A 7 7 /L [afidk
118. 6 0 118. 3. 00 0. 00

Koy WAl 3.00 1.50 0. 00 100. 0. 100. 85, 006. 5|7 & 7 7 /L %k
118. 7 0 118. 3. 00 0. 00

Koy WA 2.85 1.50 0. 00 100. 0. 100. 85, 106. 5|7 % 7 7 /L [k
118. 8 0 118. 2.85 0. 00
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Koy WAl 3.00 1.50 0. 00 100. 0 0. 100. 85, 206. 5|7 A 7 7 /L [fi%kE
118.9 0 119. 3. 00 0. 00

Koy WAl 3.00 1.48 0. 00 100. 0. 100. 85, 306. 5|7 A 7 7 /L [fi%kE
119. 0 0 119. 3. 00 0. 00

Koy WAl 3.00 2.32 0. 00 100. 0. 100. 85, 406. 5|7 A 7 7 /L %k
119. 1 0 119. 3. 00 0. 00

Koy WAl 3.00 2.00 0. 00 85. 15. 100. 85,506. 5|7 & 7 7 /L %k
119. 2 0 119. 3. 00 0. 00

Koy WAl 3.25 0. 00 0. 00 100. 0. 100. 85, 606. 5|7 % 7 7 /L %k
119. 3 0 119. 3.25 0. 00

Koy WAl 3.25 0. 00 0. 00 100. 0. 100. 85, 706. 5|7 A 7 7 /L [k
119. 4 0 119. 3.25 0. 00

Koy WAl 3.25 0. 00 0. 00 100. 0. 100. 85,806. 5|7 & 7 7 /L [fi%k
119.5 0 119. 3.25 0. 00

Koy WAl 3.25 0. 00 0. 00 100. 0. 100. 85,906. 5|7 & 7 7 /L %k
119. 6 0 119. 3.25 0. 00

Koy WAl 3.30 0. 00 0. 00 100. 0. 100. 86, 006. 5|7 % 7 7 /L %k
119. 7 0 119. 3.30 0. 00

Koy WA 3.30 0. 00 100. 0. 100. 86, 106. 5|7 % 7 7 /L ik
119. 8 0 119. 3.30 0. 00

Koy WAl 3.30 0. 00 0. 00 100. 0. 100. 86, 206. 5|7 A 7 7 /L %k
119.9 0 120. 3.30 0. 00

Koy WA 3.35 0. 00 0. 00 100. 0. 100. 86, 306. 5|7 & 7 7 /L %k
120. 0 0 120. 3.35 0. 00

Koy WAl 3.00 3. 00 0. 00 100. 0. 100. 86, 406. 5|7 A 7 7 /L %k
120. 1 0 120. 6. 00 0. 00

Koy WA 3.00 2. 00 0. 00 100. 0. 100. 86, 506. 5|7 & 7 7 /L %k
120. 2 0 120. 3. 00 0. 00
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Koy WAl 3.00 1.50 0. 00 0. 100. 0 0. 100. 86, 606. 5|7 & 7 7 /L %k
120. 3 0 120. 3. 00 0. 00 2.

Koy WAl 3.00 0. 00 0. 00 1. 100. 0. 100. 86, 706. 5|7 A 7 7 /L [fi%k
120. 4 0 120. 3. 00 0. 00 0.

Koy WAl 3.00 0. 00 0. 00 1. 67. 32. 100. 86, 806. 5|7 & 7 7 /L %k
120. 5 0 120. 3. 00 0. 00 0.

Koy WAl 3.00 0. 00 0. 00 1. 100. 0. 100. 86,906. 5|7 & 7 7 /L %k
120. 6 0 120. 3. 00 0. 00 0.

Koy WAl 3.00 0. 00 0. 00 1. 100. 0. 100. 87,006. 5|7 % 7 7 /L [k
120. 7 0 120. 3. 00 0. 00 0.

Koy WAl 3.00 0. 00 0. 00 2. 100. 0. 100. 87,106. 5|7 A 7 7 /L [k
120. 8 0 120. 6. 00 2. 50 0.

Koy WAl 3.25 0. 00 0. 00 0. 100. 0. 100. 87,206. 5|7 A 7 7 /L [afidk
120. 9 0 121. 6. 00 5. 20 1.

Koy WAl 5. 90 2.20 0. 00 0. 100. 0. 100. 87,306. 5|7 A 7 7 /L [afi%k
121.0 0 121. 2.90 0. 00 3.

Koy WAl 3.15 2. 40 0. 00 0. 100. 0. 100. 87, 406. 5|7 A 7 7 /L [fidk
121. 1 0 121. 3.15 0. 00 2.

Koy WA 3.20 1.80 0. 00 0. 100. 0. 100. 87,506. 5|7 & 7 7 /L [fi%k
121.2 0 121. 3. 20 0. 00 2.

Koy WAl 3.15 2. 00 0. 00 1. 83. 17. 100. 87,606. 5|7 & 7 7 /L %k
121. 3 0 121. 3.15 0. 00 0.

Koy WA 3.10 2. 00 0. 00 0. 100. 0. 100. 87,706. 5|7 A 7 7 /L [k
121. 4 0 121. 3.10 0. 00 0.

Koy WAl 3.10 2. 00 0. 00 0. 100. 0. 100. 87,806. 5|7 & 7 7 /L %k
121.5 0 121. 3.10 0. 00 0.

Koy WA 3.10 2. 00 0. 00 0. 100. 0. 100. 87,906. 5|7 % 7 7 /L [afidk
121.6 0 121. 3.10 2. 00 0.
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Koy WA TH 3.00 2.00 0. 00 100.0 0. 100. 88, 006. 5|7 2 7 7 )L [k
121.7 0 121. 3.00 2.00

Koy WA TH 3.00 2.00 0. 00 100. 0. 100. 88, 106. 5|7 2 7 7 )L Nk
121.8 0 121. 3.00 2.00

Koy WA TH 3.00 1.50 0. 00 73. 27. 100. 88, 206. 5|7 2 7 7 )L NajidE
121.9 0 122. 3.00 1. 00

Koy WA TH 3.00 2.00 0. 00 17. 83. 100. 88, 306. 5|7 2 7 7 )L Nk
122.0 0 122. 3.00 2.00

Koy W EBARTH 3.00 2.00 0. 00 100. 0. 100. 88, 406. 5|7 2 7 7 )L ik
122. 1 0 122. 3.00 2.00

Koy WA TH 3.00 2.00 0. 00 100. 0. 100. 88, 506. 5|7 2 7 7 )L [ajidE
122.2 0 122. 3.00 2.00

Koy WA TH 3.00 2.00 0. 00 100. 0. 100. 88, 606. 5|7 2 7 7 /L ik
122.3 0 122. 3.00 0. 00

Koy WA TH 3.00 1. 80 0. 00 85. 14. 100. 88,706.5|7 2 7 7 L Nk
122. 4 0 122. 3. 00 0.00

KAy IS 3. 00 2.05 0. 00 100. 0. 100. 88, 806. 5|7 &2 7 7 /L itk
122.5 0 122. 3. 00 0. 00

KoKy 3. 00 2.00 0. 00 0. 100. 0. 100. 88,906. 5|7 2 7 7 /L Nk
122. 6 0 122. 3. 00 0. 00 0.

Koy R KRy 3. 00 2.07 0. 00 0. 100. 0. 100. 89, 006. 5|7 2 7 7 )L ik
122.7 0 122. 3. 00 0. 00 0.

KPS 3. 00 3.25 0. 00 0. 100. 0. 100. 89, 106. 5|7 &2 7 7 /L itk
122.8 0 122. 5.90 2.50 0.

KAy RS 3.00 2.00 0. 00 0. 100. 0. 100. 89, 206. 5|7 A 7 7 /L itk
122.9 0 123. 3. 00 0. 00 0.

KAy 3.00 2.00 0. 00 0. 100. 0. 100. 89, 306. 5|7 &2 7 7 /L itk
123.0 0 123. 3. 00 0. 00 0.
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Koy R KRGy 3. 00 2.00 0. 00 100.0 100. 89, 406. 5|7 2 7 7 )L Nk
123. 1 123. 3.00 0. 00
Koy R Ry 3. 00 2.00 0. 00 100. 100. 89, 506. 5|7 2 7 7 )L [k
123.2 123. 3.00 0. 00
Koy R Ry 3.00 3. 00 0. 00 100. 100. 89, 606. 5|7 2 7 7 )L ik
123.3 123. 3.00 0. 00
Koy R Ry 3. 00 2.00 0. 00 100. 100. 89, 706. 5|7 2 7 7 )L Nk
123. 4 123. 3.00 0. 00
Koy RR oy 3. 00 2.00 0. 00 100. 100. 89, 806. 5|7 2 7 7 /L ik
123.5 123. 3.00 0. 00
Koy R Ry 3. 00 2.00 0. 00 100. 100. 89, 906. 5|7 2 7 7 )L Nk
123.6 123. 3.00 0. 00
Koy R Ry 3.00 2.00 0. 00 100. 100. 90, 006. 5|7 2 7 7 )L ik
123.7 123. 3.00 0. 00
Koy R KRy 3.00 2.00 0. 00 96. 100. 90, 106. 5|7 2 7 7 )L ik
123.8 123. 3. 00 0.00
Koy R KRy 3. 00 2.00 0. 00 100. 100. 90, 206. 5|7 2 7 7 )L Nk
123.9 124. 3. 00 0. 00
Koy R Ry 3. 00 2.00 0. 00 100. 100. 90, 306. 5|7 2 7 7 )L Nk
124.0 124. 3. 00 0. 00
Koy R KRy 3. 00 2.00 0. 00 100. 100. 90, 406. 5|7 2 7 7 )L ik
124. 1 124. 6. 00 2.00
Koy R Ry 3. 00 2.50 0. 00 100. 100. 90, 506. 5|7 2 7 7 )L [aidE
124.2 124. 3. 00 2.00
KAy RS 3.00 2.50 0. 00 100. 100. 90, 606. 5|7 A2 7 7 /L Ntk
124.3 124. 3. 00 0. 00
Koy R KRy 3.00 2. 50 0. 00 100. 100. 90, 706. 5|7 2 7 7 )L Nk
124. 4 124. 3. 00 0. 00
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Koy R KRGy 3. 00 2. 0. 00 100.0 100. 90, 806. 5|7 2 7 7 )L ik
124.5 0 124. 3.00 0.

Koy R Ry 3. 00 2. 0. 00 100. 100. 90, 906. 5|7 2 7 7 )L ik
124. 6 0 124. 3.00 0.

KA RS T 3.34 3. 0. 00 0. 100. 100. 91, 006. 5|7 &2 7 7 /L ik
124. 7 0 124. 6. 54 3. 0.

KoKy 6. 69 3. 0. 00 0. 100. 100. 91, 106. 5|7 2 7 7 )L ik
124. 8 0 124. 9. 41 3. 5.

Koy RR oy 7.03 3. 0. 00 0. 100. 100. 91, 206. 5|7 2 7 7 )L ik
124.9 0 125. 6. 63 3. 0.

KA KA T 6.52 3. 1. 00 0. 100. 100. 91, 306. 5|7 &2 7 7 /L Mk
125.0 0 125. 6. 54 3. 0.

KoKy 6. 66 3. 1. 00 0. 100. 100. 91, 406. 5|7 2 7 7 )L ik
125. 1 0 125. 6.53 3. 0.

Koy R KRy 8.75 3. 0. 00 0. 100. 100. 91, 506. 5|7 2 7 7 )L ik
125. 2 0 125. 8.75 3. 0.

KA RS T 6. 54 3. 1. 00 0. 100. 100. 91, 606. 5|7 &2 7 7 /L Ntk
125.3 0 125. 7.73 3. 0.

KoKy 9.54 3. 0. 00 0. 100. 100. 91,706. 5|7 2 7 7 )L ik
125. 4 0 125. 6. 54 3. 0.

Koy R KRy 8. 00 3. 0. 00 0. 100. 100. 91, 806. 5|7 2 7 7 )L [k
125.5 0 125. 7.75 3. 0.

KA RS T 6. 50 3. 1. 00 0. 100. 100. 91,906. 5|7 &2 7 7 /L Ntk
125. 6 0 125. 6.53 3. 0.

KA LRSS 6. 50 3. 1. 00 0. 97. 100. 92, 006. 5|7 &2 7 7 /L Ntk
125.7 0 125. 6. 50 3. 0.

KA RS T 6. 50 3. 1. 00 0. 100. 100. 92,106. 5|7 2 7 7 /L itk
125.8 0 125. 6. 50 3. 0.
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Koy WKy 6. 50 3. 00 1.00 0. 50 143.0 0.0 0.0 143.0]  92,249.5|7 2 7 7 /L [k
125.9 0 ~ 6. 50 2. 50 5. 00
Koy WK orih 6. 50 3.50 1.50 0.75| 1,313.0 0.0 0.0 1,313.0 93,562.5|7 27 7 /L [k
126.0 87 ~  127.4 0 6. 50 3. 50 0.75
Koy WKl 6. 50 3.50 1.50 0.75 250.0 0.0 0.0 250.0| 93,812.5|7 27 7 /L L%k
127. 4 0~ 127.6 50 9.75 3. 50 0. 50
Koy WK orih 6. 50 3.50 1.50 0.75 582.0 0.0 117.0 699.0| 94,511.5|7 27 7 /L [afidk
127. 6 50 ~  128.3 49 6. 50 3.50 0. 50
Koy WK orih 6. 50 3.50 1.50 1.00 117.0 0.0 0.0 117.0|  94,628.5|7 2 7 7 /L [l
128.3 49~ 128.4 66 6. 50 3. 50 1. 00
PN PNl 6. 50 3.50 1. 50 0. 50 584.5 0.0 13.5 598.0| 95, 226. 5| PEAK A%
128.4 66~ 129.0 61 6. 50 3. 50 0. 50
Koy BRIy 6. 50 3.50 1. 50 0. 50 14.0 0.0 0.0 14.0| 95, 240. 5| PEAk A%
129.0 61 ~  129.0 75 6. 50 3. 50 0. 50
Koy WK orih 6. 50 3.50 1. 50 0.50| 1,543.0 0.0 0.0 1,543.0| 96, 783. 5| PEA A%
129. 0 75 ~  130.5 70 6. 50 3. 50 0. 50
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TN 2 fesli 5 B HfRF T dbm 409 3.0 0.0 0.4 4. 00 460 (AL |[Abv |EF40E
A HE R Tk 3.0 0.0 0.4

71N 2 S R S HHETRTH &S/ 48 3.0 0.7 0.5 4. 50 472 84|MEL  |HY  |IEFN454E
HHETHRTH & T o W 3.0 1.3 0.5

7 J R A R MERT S (L T 127 3.3 0.5 0.5 4.50 480 9%|EY AV RS04
A o R MR 1L S 3.3 1.5 0.5

TR kv ROy IR B TR e 541 3.3 0.8 0.6 4.50 655 30| * Y |ER29%
R4y R B E i R iR 3.3 2.0 0.5

T Mg ERAREATRET KR/ B 394 3.3 1.0 0.3 4.50 472 B1HY (AL (EF43F
IR RBEATRHT K5 P TR/ 3.3 1.0 0.3

FARRRE PAERARILE AT R Lo = jf 26 3.3 0.5 0.8 4.50 452 50150 (ML (BEFD4L4FE
IERAR L E T K 5 = VR 3.3 0.5 0.8

K5y BEIE B AT K52 1 PE 5= 2 180 3.3 0.8 0.5 4. 00 625 401V BV |MEFI3T
BB R | PE T A 3.3 0.8 0.5

1 7 NI NV Koy VR H A TR N HT 66 3.0 2.5 0.9 4.50 0 40| ? Y |HEF624E
R Gy W H A i P BT 3.0 0.0 0.9

SEN R xov A B RFa I 115 3.5 2.5 0.5 6.29 455 4518 B | TEEk164E
A KT AIT 3.5 2.5 0.5

KER b o xv H H 75 H SR 292 3.5 2.0 0.5 4.70 645 01FY (AL [FRkGE
A HTHRT H & B 3.5 2.0 0.5

i 2,198
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BUIFAY ] HHEMRFINTFEY /) E 6.1 3.3 0.0 0.8 48. 8| FI%U4H WAF414E |TL - 20 [@FTHIE ML
HHET AT FFds 3.3] 0.0/ 0.8 HA AT

H TG H BRI N7 H 20.5| 3.3] 0.0 o.5 155. 3|45 4% KIEI3E [+ WATHIR ML
HHEMT R N7 K H 3.3 0.0l 0.5 Z Dt

B4 H AT RFAHETFH) 27.0l 3.3 0.0 0.6 237.6|R CHG WEFI324E | TL - 20 [W@ATHIIR #EL
* 3.3 0.0 0.6 AT

i HE ARG H BT RTFAHTFN 218.0 3.5 2.5| 0.8] 2,943. 0|sMyHEE ERRITAE | BISfEE  [@fTHIR ML
H BT R TAHTTFN 3.5 2.5 0.8 AT

&G Ko7 A TR K TAE £ 149.0[ 3.0] 0.0 1.0| 1,341 0|8IEEEG WAF494E | TL - 2 0 [@FTHIE ML
Koy U AT RN KT EY 3.0l 1.5 0.5 AT

Bk ERENPR LR e S 226.8] 3.0 0.0 0.5 1,927. 8|MEHHE WAFN484E | TL - 2 0 [W@ATHIFR #EL
H T RN 20052 1 i 3.0l 1.5 0.5 e

e B H T RIS 120.0[ 3.0] 0.0 1.0| 1,020.0|8EEEAG WEFI464E | TL - 2 0 [W@ATHIIR #EL
* 3.0l 1.0l 0.5 e

UG HHET RIS ET R 5 431.3] 3.0 0.0] 0.5| 3,666.0[sHEEE WEFI494E | TL - 2 0 [W@ITHIIR L
H T RN 5 L i/ 3.0l 1.5 0.5 AT

L #94G K47V AT RN 551 240.01 3.0 0.0] 0.5| 2,388.0|8MEEE WAF494E | TL - 2 0 [@FTHIE ML
Ko U H T RN 51 3.0l 1.5 0.5 AT

) $9G H E T RN A BT 89 12.6/] 3.3 0.0l 1.0 123.0| P CH& WAFn464E |TL - 20 [@FTHIE ML
H BT KT 1 89 3.3 1.5 0.8 AT

Bl H HE TR R 1 89 84.0 3.3] 0.0 0.5 T14. O [SHYRHERE WEFI464E | TL - 2 0 [W@ATHIFR #EL
ERENER LIRSS 3.3 Lol o5 HAAiAT

LrllAG H T R 551 141.0] 3.0] 0.0 0.8] 1,242. 3|EMISEEG WEFN464E [T L - 2 0 [W@ITHIIR #EL
ERENER LR 3.0l 1.5/ 0.5 B fliAT

Ko WER 1 E2EHG Ko A BT REITRTT8 7 T 407.6| 3.0 0.0 0.3 3,668 4|8HEEHE WAFN434E | TL - 20 [W@ITHIER #EL
Ko A HTT R R T8 /T 3.0 2.5 0.3 BV S—HF

JF RS RPN LI A= 20.5] 3.3 0.0 1.1 210. 1|74 WAFN454E |TL - 20 [@FTHIE ML
* 3.3] 2.3 0.5 AT

R A H H TR R T4 139.9[ 3.0] 0.0 0.3] 1,270, 5|8 WAF444E |TL - 2 0 [W@ATHIFR #EL
H T KR AT 525589 3.0l 2.5 0.3 e

Ko WER 2 E2RAG Ko7V A T RN 7R 155.5] 3.0 0.0 0.5| 1,477, 3|6MEREEG WEF444E | TL - 2 0 [@ITHIER #EL
KB B TR MERT AR 3.0 2.5] 0.5 HAfliAfT
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P EARAS 5 Koy B A BT RN RS TR T 21.4] 3.3 0.0l 0.8 192.8| P CH& WAFN494E | TL - 2 0 [@FTHIFE ML
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